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Q.1 Select the option that is related to the sixth number cluster in the same way as the first
number cluster is related to the second number cluster and third number cluster is related
to fourth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13— Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)

16:256::25:625::7:961

Ans X 1.32
/< 2.33
< 3.30
o 4.31
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937995

6306803676459
6306803676460
6306803676458
6306803676457

Q.2 Select the option that is related to the first number cluster in the same way as the fourth
number cluster is related to the third number cluster and sixth number cluster is related to
fifth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13— Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)

36:7::48:96::79:158

Ans  # 1.72
X 2.70
X 3.73
X 4.71
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937955

6306803676299
6306803676297
6306803676300
6306803676298
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Q.3 After arranging the given words according to dictionary order, which word will come at ‘Fifth’
position?

1. Receipt

2. Receptacle
3. Recessim
4. Reception
5. Recess

Ans X 1.Receptacle
2 2. Reception
/% 3.Recess

" 4. Recessim

Question ID : 630680938127

Option 11D : 6306803676986
Option 21D : 6306803676988
Option 31D : 6306803676985
Option 41D : 6306803676987

Q.4 In the following question, select the missing number from the given series.

311, 310, 302, 275, 211, ?
Ans X 1.87

o 2.86
X 3.85
X 4.88

Question ID : 630680938194

Option 11D : 6306803677255
Option 21D : 6306803677254
Option 31D : 6306803677253
Option 4 ID : 6306803677256

Q.5 Ina certain code language, ‘PEN’ is coded as ‘MBK’, ‘THING' is coded as ‘QEFKD’. How will
‘TOWARD’ be coded in that code language?

Ans X 1.0MTXOA
X 2.QLUYOA
& 3. QLTXO0A
X 4.QLUXOA

Question ID : 630680938204

Option 11D : 6306803677296
Option 21D : 6306803677293
Option 31D : 6306803677295
Option 4 ID : 6306803677294
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Q.6 By interchanging the given two signs and numbers (not digits) which of the following
equation will be NOT correct?

xand -, 8and 5
Ans X 1.7x5-8+4+2=-31
o 2.4+2x8-5+3=1
X 3.8-5x2+7+1=45
X 4.8x4+6+3-5=17

Question ID : 630680938032

Option 11D : 6306803676607
Option 21D : 6306803676608
Option 31D : 6306803676606
Option 4 1D : 6306803676605

Q.7 P isthe wife of Q. Q is the brother of S. S is the brother of R. R is the mother of T. Who is the
wife of brother of R?

Ans X 1.S
X 2T
o 3.P
X 4.Q

Question ID : 630680938011

Option 11D : 6306803676523
Option 2 ID : 6306803676524
Option 31D : 6306803676521
Option 4 1D : 6306803676522

Q.8 Select that missing pair (Third letter cluster : Fourth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and fifth letter
cluster is related to sixth letter cluster.

RTW :SVZ::?:: ADH: BFK
Ans X 1.BGE:CIB
< 2. PHK:QJL
o 3. TNI: UPL
< 4.DKM:ClJ

Question ID : 630680938056

Option 11D : 6306803676704
Option 21D : 6306803676701
Option 31D : 6306803676703
Option 4 1D : 6306803676702
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Q.9 In the following question, select the missing number from the given series.
117, 125, 133, 141, 149, 157, ?

o 1.165

X 2.167

X 3.163

X 4.169

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937953

6306803676289
6306803676290
6306803676292
6306803676291

Q.10 Select the option in which the numbers shares the same relationship in set as that shared
by the numbers in the given set. (NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its constituent digits. E.g.13 -
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed.

not allowed)

(16, 176, 304)
(2,22, 38)

X 1.(16,19, 360)
& 2. (15,165, 285)
X 3.(25,365, 625)
X 4.(18,19,324)

Ans

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is

Option 4 ID

Question ID : 630680938157
Option 11D : 6306803677108
Option 2 ID : 6306803677105
Option 31D : 6306803677106
Option 4 ID : 6306803677107
Q.11 In a certain code language, ‘SCHEDULEF ' is written as ‘VCLUVYTJ'. What is the code for
‘ANALYSIS' in that code language?
Ans X 1.JKPRCERP
X 2. JKJCPRER
«# 3. JZUPCRER
X 4. JKIJCPTET
Question ID : 630680938086
Option 11D : 6306803676822
Option 2 1D : 6306803676823
Option 3 1D : 6306803676821

: 6306803676824
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Q.12 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.

FGI: HIK::NPR:PRT :: ?
Ans X 1.DIK:BJI
X 2.NPQ:PNS
& 3. DEF : FGH
< 4.GKL: JMM

Question ID : 630680938216

Option 11D : 6306803677344
Option 21D : 6306803677342
Option 31D : 6306803677341
Option 41D : 6306803677343

Q.13 In a certain code language, ‘JOKES' is written as ‘21359’, ‘'SOCKET' is written as ‘823917,
‘OKMT’ is written as ‘9028’. What can be the code for ‘E’ in that code language?

Ans 1.3
X 28
X 3.2
X 4.7

Question ID : 630680937926

Option 11D : 6306803676183
Option 21D : 6306803676181
Option 31D : 6306803676182
Option 4 ID : 6306803676184

Q.14 ‘A x B’ means ‘A is the mother of B, ‘A + B' means ‘A is the son of B’, ‘A — B' means ‘A is the
sisterof B. If Tx Y — X + Z + R, then how is T related to Z?

Ans X 1. Mother
o 2. Wife
5 3. Husband's sister
X 4. Sister

Question ID : 630680938052

Option 11D : 6306803676688
Option 21D : 6306803676685
Option 31D : 6306803676687
Option 41D : 6306803676686
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Q.15 Consider the string given below made up of letters.
QAUYDIUYIGHKSEZJRTRBGDHMDIFA

How many vowels are there in the string?
Ans X 1.5

& 2.8
X 3.4
X 4.6

Question ID : 630680937930

Option 11D : 6306803676198
Option 21D : 6306803676200
Option 31D : 6306803676199
Option 41D : 6306803676197

Q.16 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.

PTV : NRT :: GHK: EFI :: ?
Ans X 1.AHD:ZJC
25 2.BCJ: DAL
< 3.MON:PMQ
« 4. DFI: BDG

Question ID : 630680937977

Option 11D : 6306803676388
Option 21D : 6306803676386
Option 31D : 6306803676387
Option 4 ID : 6306803676385

Q.17 By interchanging the given two signs and numbers which of the following equation will be
correct?

x and -, 4 and 2
Ans X 1.9-5+4x2-3=3

K 27%x3-6+2+4=0
@ 3.7-5x4+8+2=35
X 48+4+2x3-9=-17

Question ID : 630680938112

Option 11D : 6306803676928
Option 21D : 6306803676926
Option 31D : 6306803676925
Option 4 ID : 6306803676927
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Q.18 Consider the five three letter words given below and the answer the questions based on

(Left) MIG XAD YEN PUA BPC (Right)

order, then in how many newly formed words, there will be no vowel?

it.

If all the letters of each word are replaced by the next letter as per the English alphabetical

Ans X 1.1
X 2.2
X 3.4
o 4.3
Question ID : 630680938050
Option 11D : 6306803676677
Option 21D : 6306803676678
Option 31D : 6306803676680
Option 4 1D : 6306803676679
Q.19 Arrange the given words in the sequence in which they occur in the dictionary.
1. Clip
2. Click
3. Clink
4. Climate
5. Cliff
Ans X 1.13542
X 2.13524
o 3.25431
X 4.25413
Question ID : 630680937967
Option 11D : 6306803676347
Option 21D : 6306803676348
Option 31D : 6306803676345
Option 4 ID : 6306803676346
Q.20 If '+' means 'x’, 'x’ means ‘~’, ‘=" means ‘+’ and ‘=’ means ‘+’, then which of the following
equation is correct?
Ans X 1.55-11+7x9+10=42
o 2.10+5-2x14+25=36
X 3.15-5x8+9+20=-57
K 416+10+5%x7-1=17
Question ID : 630680938031
Option 11D : 6306803676601
Option 2 1D : 6306803676604
Option 31D : 6306803676602
Option 4 1D : 6306803676603

Section : General intelligence and Reasoning Ability 2
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Q.1 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

EA, GX, IU, KR, ?
Ans X 1.MP

X 2.NP

& 3.MO

X 4.NO

Question ID : 630680938225

Option 11D : 6306803677380
Option 21D : 6306803677378
Option 31D : 6306803677379
Option 4 ID : 6306803677377

Q.2 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.YBD

X 2.KNP
o 3.MP
X 4.MPR

Question ID : 630680938220

Option 11D : 6306803677357
Option 21D : 6306803677359
Option 31D : 6306803677360
Option 41D : 6306803677358

Q.3 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(FV, DU, BT)
(AL, YK, WJ)

Ans ¥ 1.(GN,EM, CL)
X 2.(DT,CS, AR)
X 3. (0K, MJ, JI)
X 4.(2Q, XP,UO)

Question ID : 630680937979

Option 11D : 6306803676395
Option 21D : 6306803676396
Option 31D : 6306803676393
Option 4 ID : 6306803676394
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Q.4 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.YAC

X 2. 1KM
X 3.CEG
& 4. RPN

Question ID : 630680938222

Option 11D : 6306803677365
Option 21D : 6306803677367
Option 31D : 6306803677366
Option 41D : 6306803677368

Q.5 6teachersT, U, V, W, X and Y are sitting around a circular table facing towards the centre
(not necessarily in the same order). U is fourth to the right of V. W is to the immediate right
of U. T is the immediate neighbour of U and Y. What is the position of X with respect to W?

Ans & 1. Second to the right
X 2. Immediate right
5 3. Third to the right
25 4. Second to the left

Question ID : 630680938118

Option 11D : 6306803676950
Option 21D : 6306803676951
Option 31D : 6306803676952
Option 4 ID : 6306803676949

Q.6 Eight persons A, B, C, D, E, F, G and H live in an eight storied building, one on each floor but
not necessarily in the same order. The lowermost floor is numbered 1, and the floor above it
is numbered 2 and so on. Only two persons live below the floor on which G lives. Only one
person lives between G and A. H lives on an odd numbered floor but not on floor number 7.
Only two persons live between H and B. B does not live on the topmost floor. A does not live
on the lowermost floor. D lives immediately below C. Neither D nor E lives on floor
numbered 6. D lives on which floor number?

Ans X 1.6th
25 2. 5th
& 3.2nd
o 4.7th

Question ID : 630680938083

Option 11D : 6306803676809
Option 21D : 6306803676812
Option 31D : 6306803676810
Option 41D : 6306803676811
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Q.7 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. All A are B.

1. All B are C.

11l. Some C are D.
Conclusion:

I. All B are D.

Il. Some D are A.
1I. All A are C.

Ans X 1.Both conclusions | and Il follows
25 2. 0Only conclusion | follows
#% 3. Both conclusions Il and 1l follows

«# 4. Only conclusion Il follows

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680938055

1 6306803676698
: 6306803676697
1 6306803676700
: 6306803676699

Q.8 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

SH, PK, MN, ?, GT

Ans X 1.1P

o 2.JQ

X 3 HT

X 4.0
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937985

6306803676420
6306803676417
6306803676419
6306803676418
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Ans

o

o]

o

=

?

29 Which answer figure will complete the pattern in the question figure?
mn)

Question ID
Option 11D
Option 2 ID
Option 31D

: 630680938067
: 6306803676748
: 6306803676747
: 6306803676745
Option 41D :

6306803676746
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Q.10

Which answer figure will complete the pattern in the question figure?

Ans

that will complete the series.

LZ, NW, PT, RQ, ?

Ans
x 1. Z
EQ:
X2
X 3.
L 4
Question ID : 630680937987
Option 11D : 6306803676426
Option 2 ID : 6306803676427
Option 3 ID : 6306803676425
Option 4 ID : 6306803676428
Q.11 A series is given with one term missing. Select the correct alternative from the given ones

o 1.TN

X 2.T0

X 3. TP

KX 4.SN
Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID

: 630680937945
: 6306803676258
: 6306803676257

6306803676259

1 6306803676260
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Q.12 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
A.Some Z are Y.
B. Some X are Y.
C. Some A are X.
Conclusions:

. ALY are X.
II.NoAisY.

11l. Some X are A.

Ans X 1.0nly conclusion | follows
«” 2. Only conclusion Ill follows
Z5 3. 0Only conclusion Il follows

/< 4. Neither conclusion follows

Question ID : 630680938174

Option 11D : 6306803677173
Option 21D : 6306803677175
Option 31D : 6306803677174
Option 41D : 6306803677176

Q.13 In the following question, select the odd figure from the given alternatives.
Ans

&<

7 BB

Question ID : 630680937949

Option 11D : 6306803676275
Option 21D : 6306803676274
Option 31D : 6306803676273
Option 41D : 6306803676276
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Q.14 Eight boys J, K, L, M, N, O, P and Q are sitting in a row facing towards south (not necessarily
in the same order). O is fifth to the left of J. N is immediate left of J. M is fifth to the left of
N. Q is third to the right of M. K is third to left of P. P is an immediate neighbour of J. Who is
sitting immediate right of 0?

Ans X 1.M
X 2P
X 3.K
o 4L
Question ID : 630680938040
Option 11D : 6306803676638
Option 2 ID : 6306803676639
Option 3 ID : 6306803676640
Option 4 1D : 6306803676637
Q.15 Seven boxes Z1, Z2, Z3, Z4, Z5, Z6 and Z7 are placed one above the other. Only two boxes
are placed above box Z4. Only one box is placed between box Z7 and Z4. As many as boxes
are placed between box Z7 and Z5 as between box Z5 and Z1. Three boxes are placed
between box Z2 and Z3. Z2 is placed above Z3. How many boxes are placed in between Z7
and Z5?
Ans X 1.4
X 2.1
/X 3.3
o 4.2
Question ID : 630680938082
Option 11D : 6306803676808
Option 2 1D : 6306803676805
Option 31D : 6306803676807
Option 4 1D : 6306803676806
Q.16 In arow of 63 goats, black goat is 32nd from the right end. What is its position from left
end?
Ans X 1.33rd
< 2.31st
< 3.34th
" 4.32nd
Question ID : 630680938001
Option 11D : 6306803676481
Option 2 ID : 6306803676482
Option 3 1D : 6306803676483
Option 4 1D : 6306803676484
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Q.17 In the following question, four letter pairs are given. The letters on left side of (-) is related
to the letters on the right side of (-) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans X 1.RAT-TYG
< 2.LVE - NTV
/< 3.BDQ - DBJ
o 4. WHY - ZKD

Question ID : 630680937943

Option 11D : 6306803676250
Option 21D : 6306803676252
Option 31D : 6306803676251
Option 4 ID : 6306803676249

Q.18 Five persons A, B, C, D and E are sitting around a circular table facing towards the centre
(not necessarily in the same order). C is an immediate neighbour of A and E. B is sitting
second to the left of E. A is sitting second to the right of E. Who is sitting second to the left
of C?

Ans X 1.A
X 2.B
X 3.E
& 4.D

Question ID : 630680937999

Option 11D : 6306803676474
Option 21D : 6306803676475
Option 31D : 6306803676473
Option 41D : 6306803676476

Q.19 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I.NoPisQ.
Il. Some Q are R.
Ill. Some R are S.

Conclusion:

. Some S are not P.
Il. No S are Q.

Ill. Some R are not P.

Ans 4 1. Only conclusion Il follows
2% 2. Only conclusion Il follows
2% 3. Only conclusion | follows

/% 4. Both conclusions | and Il follows

Question ID : 630680937974

Option 11D : 6306803676375
Option 21D : 6306803676374
Option 31D : 6306803676373
Option 4 ID : 6306803676376
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Q.20 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.FHG

X 2.BDC
& 3.ACD
X 4.DFE

Question ID : 630680938182

Option 11D : 6306803677205
Option 21D : 6306803677207
Option 31D : 6306803677208
Option 41D : 6306803677206

Section : General Awareness 1

Q.1 Matsya Festival, Marwar Festival and Kajli Teej are associated with which of the following
state of India?

Ans X 1.Madhya Pradesh
5 2. Goa
/% 3. Bihar
" 4. Rajasthan

Question ID : 630680939411

Option 11D : 6306803682067
Option 21D : 6306803682068
Option 31D : 6306803682070
Option 41D : 6306803682069

Q.2 Dimasa, Mishing and Karbi tribal languages are spoken in which of the following states of
India?

Ans X 1.Madhya Pradesh
/% 2. Chhattisgarh
2% 3. Tripura
o 4. Assam

Question ID : 630680939329

Option 11D : 6306803681742
Option 21D : 6306803681741
Option 31D : 6306803681739
Option 41D : 6306803681740
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Q.3 Which of the following statements are CORRECT about the LVM3 launch vehicle of the
Indian Space Research Organisation (ISRO)?

I. LVM3 is the new heavy-lift launch vehicle for achieving a 4000 kg spacecraft launching
capability to GTO (Geosynchronous Transfer Orbit).
Il. LVM3 is a four-stage launch vehicle consisting of two solid propellants.

Ans X 1.0nlyll
/5 2.Bothland Il
25 3. Neither I nor Il

«" 4.0nly |

Question ID : 630680939359

Option 11D : 6306803681860
Option 21D : 6306803681861
Option 31D : 6306803681862
Option 4 ID : 6306803681859

Q.4 What is generally used in the kitchen for making crispy pakoras?
Ans X 1.Bleaching powder

25 2. Milk of Magnesia
2 3. Washing Soda
" 4. Baking Soda

Question ID : 630680939387

Option 11D : 6306803681972
Option 21D : 6306803681971
Option 31D : 6306803681973
Option 4 ID : 6306803681974

Q.5 Which of the following literary works narrates a tale of love of a poor brahmin Charudatta
for a courtesan Vasantasena?

Ans X 1. Mudrarakshasa
" 2. Mrcchakatika
#5 3. Svapnavasavadatta
25 4. Mahaviracharita

Question ID : 630680939328

Option 11D : 6306803681735
Option 21D : 6306803681737
Option 31D : 6306803681738
Option 41D : 6306803681736

Q.6 South Asian Youth Table Tennis Championship 2023 was held in which city of India?
Ans 4 1. ltanagar

2 2. Noida
5 3. Chennai
< 4. Bhopal

Question ID : 630680939431

Option 11D : 6306803682149
Option 21D : 6306803682147
Option 31D : 6306803682150
Option 4 1D : 6306803682148
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Q.7 In April 2023, the National Institute of Mental Health and Neurosciences and Ashraya Hasta

Trust signed an MoU to test the feasibility of a model comprehensive rural mental health
programme named

Ans X 1.YUVIKA
5 2. VAIBHAV
& 3. NAMAN
5 4. Naya Savera

Question ID : 630680939398

Option 11D : 6306803682015
Option 21D : 6306803682017
Option 31D : 6306803682018
Option 41D : 6306803682016

Q.8 “Samarth” (Capacity Building Scheme in Textile Sector) scheme of the Ministry of Textiles
is operational till which of the following years?

Ans X 1.June 2027
5 2. March 2028
«” 3. March 2024
25 4. April 2025

Question ID : 630680939474

Option 11D : 6306803682321
Option 21D : 6306803682322
Option 31D : 6306803682319
Option 41D : 6306803682320

Q.9 Which of the following languages is NOT spoken in Meghalaya?
Ans X 1.Khasi

" 2. Tulu
5 3. Garo
X 4. Jaintia

Question ID : 630680939450

Option 11D : 6306803682224
Option 21D : 6306803682226
Option 31D : 6306803682223
Option 4 ID : 6306803682225

Q.10 Which of the following Ministries organized Sangathan Se Samriddhi Abhiyaan across the
country in 2023 for implementing Deendayal Antyodaya Yojana — National Rural Livelihoods
Mission?

Ans X 1. Ministry of Social Justice and Empowerment

25 2. Ministry of Women and Child Development

5 3. Ministry of Health and Family Welfare

«# 4. Ministry of Rural Development

Question ID : 630680939315

Option 11D : 6306803681683
Option 21D : 6306803681684
Option 31D : 6306803681685
Option 41D : 6306803681686
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Q.11 Which mammalian species was found in Kaziranga National Park and Tiger Reserve, Assam
in January 2024?

I. Binturong
1. Small-clawed otter

Ans X 1. Neither | nor Il

25 2.0nly i
" 3.Bothlandll

25 4.0nly|

Question ID : 630680939593

Option 11D : 6306803682798
Option 21D : 6306803682796
Option 31D : 6306803682797
Option 41D : 6306803682795

Q.12 Cycas pectinata is listed as which of the following in the International Union for
Conservation of Nature’s Red List, as of April 2023?

Ans  # 1.vulnerable
/% 2. Endangered
2% 3. Least Concern
2 4. Extinct

Question ID : 630680939432

Option 11D : 6306803682151
Option 21D : 6306803682153
Option 31D : 6306803682152
Option 4 ID : 6306803682154

Q.13 In June 2023, Nusrat Chaudhary became the first Muslim woman federal judge of which
country?

Ans & 1. United states of America
/< 2. China
/< 3.Canada
5 4. Saudi Arab

Question ID : 630680939430

Option 11D : 6306803682146
Option 2 ID : 6306803682145
Option 31D : 6306803682144
Option 41D : 6306803682143

Q.14 Who was the first to identify DNA as an acidic substance present in the nucleus?
Ans 4 1. Friedrich Meischer

2% 2. Carl Linnaeus
2 3. Edward Jenner
2 4. Rosalind Franklin

Question ID : 630680939384

Option 11D : 6306803681959
Option 21D : 6306803681960
Option 31D : 6306803681962
Option 4 ID : 6306803681961
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Q.15 National Mission in Interdisciplinary Cyber Physical Systems (NM-ICPS) was launched in
which of the following years?

Ans X 1.2022
X 2.2020
X 3.2015
o 4.2018
Question ID : 630680939397
Option 11D : 6306803682014
Option 21D : 6306803682013
Option 31D : 6306803682011
Option 41D : 6306803682012
Q.16 G. Sankara Kurup received the Jnanpith Award in 1965 for which of the following literary
works?
Ans X 1.Kayar
X 2. Oru Desathinte Katha
% 3. Varshakala Katha
" 4. Odakkuzhal
Question ID : 630680939327
Option 11D : 6306803681733
Option 21D : 6306803681732
Option 31D : 6306803681734
Option 4 ID : 6306803681731
Q.17 In which year was the Skill Acquisition and Knowledge Awareness for Livelihood Promotion
(SANKALP) programme launched in India?
Ans X 1.2014
X 2.2016
o 3.2018
X 4.2022
Question ID : 630680939396
Option 11D : 6306803682007
Option 21D : 6306803682008
Option 3 1D : 6306803682009
Option 4 ID : 6306803682010
Q.18 Which of the following is a major religious festival of the Jaintia tribe of Meghalaya?
Ans X 1.Ka Shad Suk Mynsiem
/% 2. Baisagu
" 3. Beh-dien-khlam
5 4. Puttari
Question ID : 630680939332
Option 11D : 6306803681751
Option 21D : 6306803681752
Option 31D : 6306803681753
Option 4 ID : 6306803681754
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Q.19 Which of the following nuclear power plants is located in Tamil Nadu?
Ans X 1. Tarapur

/5 2. Kota
" 3. Kalpakkam
2% 4. Narora

Question ID : 630680939549

Option 11D : 6306803682619
Option 21D : 6306803682622
Option 31D : 6306803682621
Option 41D : 6306803682620

Q.20 In which year did Dr. C. V. Raman discover the Raman scattering phenomenon?
Ans X 1.1920

X 2.1901
X 3.1911
o 4.1928

Question ID : 630680939349

Option 11D : 6306803681821
Option 21D : 6306803681819
Option 31D : 6306803681820
Option 4 ID : 6306803681822

Section : General Awareness 2

Q.1 Which of the following means cases that can be directly considered by the Supreme Court
without going to the lower courts before that?

Ans X 1. Advisory Jurisdiction
25 2. Writ Jurisdiction
«# 3. Original Jurisdiction

25 4. Appellate Jurisdiction

Question ID : 630680939582

Option 11D : 6306803682754
Option 2 1D : 6306803682753
Option 31D : 6306803682752
Option 4 ID : 6306803682751

Q.2 The Satluj originates in the *
Ans X 1. Verinag

' near Mansarovar.

" 2. Rakshas tal
X 3. Chemayungdung
X 4. Bokhar Chu

Question ID : 630680939614

Option 11D : 6306803682879
Option 21D : 6306803682882
Option 31D : 6306803682881
Option 4 1D : 6306803682880
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Q.3 In which of the following years was Krishak Bharati Cooperative Limited (KRIBHCO)
established?

Ans  «# 1.7980
/< 2.2004
X 3.1969
X 4.1988

Question ID : 630680939441

Option 11D : 6306803682188
Option 21D : 6306803682190
Option 31D : 6306803682187
Option 4 1D : 6306803682189

Q.4 Which of the following regions is NOT a high rainfall area of India?
Ans o 1. Deccan Plateau

/% 2. Western Ghats
2% 3. Hills of Meghalaya

2% 4. Sub-Himalayan areas in the northeast

Question ID : 630680939376

Option 11D : 6306803681928
Option 2 1D : 6306803681927
Option 31D : 6306803681930
Option 41D : 6306803681929

Q.5 Which of the following statement is correct about Peninsular Plateau?

I. It was formed due to the breaking and drifting of the Gondwana land.
Il. The Peninsular plateau is a tableland composed of the old crystalline, igneous and
metamorphic rocks.

Ans X 1.0nlyl
25 2. Neither | nor Il
" 3.Bothland I
25 4.0nly I

Question ID : 630680939533

Option 11D : 6306803682555
Option 21D : 6306803682558
Option 31D : 6306803682557
Option 41D : 6306803682556

Q.6 The Battle of Plassey was fought in year .
Ans X 1.1764

o 2.1757
X 3.1767
X 4.1754

Question ID : 630680939364

Option 11D : 6306803681881
Option 21D : 6306803681880
Option 31D : 6306803681882
Option 4 ID : 6306803681879
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Q.7 What was the male-female gap in literacy rate according to 2011 census?
Ans  # 1.16.3

X 2.26.6
X 3.2438
X 4217

Question ID : 630680939538

Option 11D : 6306803682578
Option 21D : 6306803682575
Option 31D : 6306803682576
Option 4 ID : 6306803682577

Q.8 In which of the following years India's population growth rate was negative?
Ans x 1.1931-41

/< 2.1891-1901
o 3.1911-21
< 4.1961-71

Question ID : 630680939457

Option 11D : 6306803682253
Option 21D : 6306803682251
Option 31D : 6306803682252
Option 4 ID : 6306803682254

Q.9 The words "Socialist, Secular" was added to the Constitution of India by which of the
following amendment act?

Ans X 1. Forty fifth constitutional Amendment Act
" 2. Forty Second constitutional Amendment Act
% 3. Sixtieth constitutional Amendment Act

75 4. Fifty second constitutional Amendment Act

Question ID : 630680939499

Option 11D : 6306803682420
Option 21D : 6306803682419
Option 31D : 6306803682422
Option 41D : 6306803682421

Q.10 What is the function of Phosphorus in human body?
Ans X 1. Metabolic control of harmone

25 2. Maintenance of normal water balance
«# 3. Formation of bones and teeth

5 4. Formation of haemoglobin

Question ID : 630680939546

Option 11D : 6306803682608
Option 2 1D : 6306803682609
Option 31D : 6306803682610
Option 41D : 6306803682607
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Q.11 Who among the following was the ruler of Delhi during the period 1324-1351?
2% 1. Ghiyasuddin Tughlug

% 2. Ghiyasuddin Balban
2% 3. Firuz Shah Tughlug

Ans

" 4. Muhammad Tughlug

Question ID : 630680939525
Option 11D : 6306803682523
Option 21D : 6306803682525
Option 31D : 6306803682526
Option 4 ID : 6306803682524
Q.12 The relation between the consumer’s optimal choice of the quantity of a good and its price
is called the
Ans X 1. expenditure
# 2. demand function
/% 3. substitution effect
5 4. elasticity
Question ID : 630680939442
Option 11D : 6306803682194
Option 2 ID : 6306803682191
Option 31D : 6306803682192
Option 4 1D : 6306803682193
Q.13 Which of the following is NOT a feature of the Indian Constitution?
Ans & 1. Presidential form of government
% 2. Separation of powers
% 3. Parliamentary form of government
5 4. Fundamental rights
Question ID : 630680939380
Option 11D : 6306803681943
Option 2 ID : 6306803681944
Option 31D : 6306803681945
Option 41D : 6306803681946
Q.14 In which year was the Fiscal Responsibility and Budget Management (FRBM) Act enacted?
Ans X 1.2018
X 2.2013
«” 3.2003
X 4.2008
Question ID : 630680939402
Option 11D : 6306803682034
Option 2 ID : 6306803682033
Option 31D : 6306803682031
Option 4 1D : 6306803682032
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Q.15 Which Article of the Indian Constitution deals with the appointment of ad hoc judges?
Ans X 1. Article 123

25 2. Article 148
" 3. Article 127
25 4. Article 111

Question ID : 630680939343

Option 11D : 6306803681796
Option 21D : 6306803681798
Option 31D : 6306803681797
Option 41D : 6306803681795

Q.16 In which Article of the Indian Constitution there is a provision for "Advocate General for the
State"?

Ans X 1. Article 280
25 2. Article 213
" 3. Article 165
5 4. Article 76

Question ID : 630680939422

Option 11D : 6306803682114
Option 2 1D : 6306803682113
Option 31D : 6306803682112
Option 4 ID : 6306803682111

Q.17 The process of copying genetic information from one strand of the DNA into RNA is termed
as .

Ans X 1. Translation
" 2. Transcription
/5 3. Replication
/5 4. Genetic code

Question ID : 630680939584

Option 11D : 6306803682761
Option 2 1D : 6306803682760
Option 31D : 6306803682759
Option 4 1D : 6306803682762

Q.18 Who among the following was the ruler of Delhi during the period 1206-1210?
Ans X 1. Ghiyasuddin Balban

2% 2. Jalaluddin Khalji
" 3. Qutbuddin Aybak
2% 4. Shamsuddin lltutmish

Question ID : 630680939365

Option 11D : 6306803681885
Option 21D : 6306803681886
Option 31D : 6306803681883
Option 41D : 6306803681884
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June?

Q.19 Which of the following states experiences the onset of the southwest monsoon around 1st

Ans X 1.Tamil Nadu
5 2. Gujarat
«# 3. Kerala
/5 4. Punjab
Question ID : 630680939336
Option 11D : 6306803681767
Option 21D : 6306803681769
Option 31D : 6306803681768
Option 4 1D : 6306803681770
Q.20 Who was the founder of Arya Samaj?
Ans X 1.Raja Rammohun Roy
% 2. Ishwar Chandra Vidyasagar
4" 3. Swami Dayanand Saraswati
25 4. Swami Vivekananda
Question ID : 630680939363
Option 11D : 6306803681876
Option 2 1D : 6306803681877
Option 31D : 6306803681875
Option 4 1D : 6306803681878

Section : Arithmetical and Numerical Ability 1

Q1 12 4 3 L 1 2
Among E, E, ? and E’ how many of these fractions lie between :1 and — 7
Ans o 1. 0
X2 4
w3 ]
K42

Question ID
Option 11D
Option 21D :
Option 31D
Option 41D :

: 630680937786
: 6306803675625

6306803675626

1 6306803675628

6306803675627
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Q.2  The pie chart given below gives the prices of 6 different articles as shares of the total price of these items in terms of the
sectoral angles shown. The total price of all these 6 articles is Rs. 5400.

T
23°

K,
N

J1 =Average price of P, Q, S and U.
12 = The difference between the prices of R and T.
‘What is the value (in Rs.) of (J1 —12)?

S
16°

Ans

X 1.212.50
2 202.50
X 3.195.50
X 4 184.50
Question ID : 630680937501
Option 11D : 6306803674487
Option 21D : 6306803674488
Option 31D : 6306803674485
Option 4 1D : 6306803674486
Q.3  The average present age of Rustam and Preetam is 38 years. The average present age of Preetam and Geetam is 28
years. The average present age of Rustam and Geetam is 34 years. What will be the age of the youngest of the three
after 5 years?
Ans 1. 33 years
X 2. 27 years
« 3. 29 years
X 4. 24 years
Question ID : 630680937533
Option 11D : 6306803674614
Option 21D : 6306803674616
Option 31D : 6306803674613
Option 41D : 6306803674615
Q.4  The present value of a car is Rs. 420000. Its value is depreciating by 15 percent of its present value each year. What will
its value be 2 years from now?
Ans X 1. Rs. 202450
X 2. Rs. 353450
X 3. Rs. 342450
« 4 Rs. 303450
Question ID : 630680937616
Option 11D : 6306803674947
Option 21D : 6306803674948
Option 31D : 6306803674945
Option 4 ID : 6306803674946
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Q5 Which of the following number is divisible by 6?
Ans 1. 1288

X 2. 1652

X< 3. 7624

« 4 5190

Question ID : 630680937743

Option 11D : 6306803675456
Option 21D : 6306803675454
Option 31D : 6306803675453
Option 41D : 6306803675455

Q.6  What will be the difference between compound interest (compounding annually) and simple interest for 3 years ona
principal of Rs. 12000 at the rate of 10 percent per annum?

Ans X' 1. Rs. 402
X 2. Rs. 352
X 3 Rs. 392
+ 4 Rs. 372

Question ID : 630680937657

Option 11D : 6306803675110
Option 21D : 6306803675109
Option 31D : 6306803675112
Option 4 ID : 6306803675111

%7 What is the positive square root of 36 + 18-/37

A X1 245V3
V23433
X3 5+43

X4 1+5V3

Question ID : 630680937627

Option 11D : 6306803674989
Option 21D : 6306803674990
Option 31D : 6306803674991
Option 41D : 6306803674992
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Q8 If22a -+ 22b = 484, then what is the average of a and b?

Ans .21 11
X212
X3 135
X4 14

Question ID : 630680937771

Option 11D : 6306803675568
Option 2 1D : 6306803675567
Option 31D : 6306803675566
Option 4 ID : 6306803675565

Q.9 The table given below shows the expenditure (in Z) on rent and travel of 6 persons in 1 month.

Expenditure
Persons | Rent | Travel

A 5000 3600
B 6500 3800
C 5500 3200
D 7000 3550
E 6500 | 2800
F 6300 3300

What is the ratio of expenditure on rent to expenditure on travel by all persons?
Ans X' 1. 962 : 315

« 2. 736 405

X< 3. 746 : 405

X4 692305

Question ID : 630680937698

Option 11D : 6306803675276
Option 2 1D : 6306803675275
Option 31D : 6306803675273
Option 41D : 6306803675274

Q.10 If 30 percent of Q is added to 10 percent of R, then the resultant comes as 40 percent of R. Q is what percentage of R?

Ans X 1. 10 percent
#< 2. 110 percent
X 3. 11 percent
« 4. 100 percent

Question ID : 630680937748

Option 11D : 6306803675473
Option 2 1D : 6306803675474
Option 31D : 6306803675475
Option 4 ID : 6306803675476
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. The marked price of a car is "Rs 550000. Rahul buys that car after two successive discounts of 10 percent and 30

11 Th ked price of is” ahul buys th ft ive di f10p d
percent. If he sells the car for Rs. 360000, then what is the profit percentage? [Give your answer correct to two places of
decimal.]

Ans X 1. 5.65 percent
X< 2. 4,87 percent
X 3. 2.85 percent
« 4. 3.90 percent

Question ID : 630680937555

Option 11D : 6306803674703
Option 21D : 6306803674701
Option 31D : 6306803674704
Option 4 1D : 6306803674702

a1z 16 32

8
‘What is the Least Common Multiple of =0 and E?

Ans g

Question ID : 630680937585

Option 11D : 6306803674823
Option 21D : 6306803674821
Option 3 1D : 6306803674824
Option 41D : 6306803674822
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Q.13 The table given below shows the number of tables sold by 5 shops.

Shops | Tables
S1 63
52 68
S3 96
S4 105
S5 78

What is the average of the number of tables sold by shop S1, $2 and $3? [Give your answer correct to two places of
decimal.]

Ans X 1. 75.17
2. 75.67
X 3. 77.33
X 4. 7423

Question ID : 630680937618

Option 11D : 6306803674955
Option 21D : 6306803674953
Option 31D : 6306803674956
Option 4 ID : 6306803674954

Q.14 The marked price of an article is Rs. 2600. If a discount of 38 percent is given, then what is the selling price of the
article?

Ans X' 1. Rs. 1562
¥ 2 Rs. 1612
X 3. Rs. 1742
X 4. Rs. 1652

Question ID : 630680937514

Option 11D : 6306803674537
Option 21D : 6306803674540
Option 31D : 6306803674538
Option 4 ID : 6306803674539
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Q.15 The line chart given below shows the numbers of boys and girls in 7 different schools.

120

——Boys —=Girls

P1 = The absolute difference between the average number of boys in A and B and the average number of girls in E and
L.

P2 = The total number of boys in all the schools.
What is the value of (P1 +~ P2)?

Ans X 1427
X2 487
X3 514
4 501

Question ID : 630680937500

Option 11D : 6306803674482
Option 2 ID : 6306803674481
Option 31D : 6306803674483
Option 4 ID : 6306803674484

Q.16 The initial ratio of income and expenditure of Tarun is 14 : 9 respectively. His income is increased by 10 percent and

expenditure is increased by 20 percent. If his new savings is "Rs. 23000, then what was the initial income of Tarun?

Ans 1. Rs. 28000
< 2. Rs. 84000
A 3. Rs. 56000
« 4 Rs. 70000

Question ID : 630680937551

Option 11D : 6306803674688
Option 21D : 6306803674687
Option 31D : 6306803674685
Option 41D : 6306803674686

Q.17 Outof two numbers, 87.5 percent of the smaller number is equal to 37.5 percent of the larger number. If the sum of both
the numbers is 1100, then what is the value of the larger number?

Ans X 1. 760
X 2. 750
3. 770
X4 710

Question ID : 630680937549

Option 11D : 6306803674678
Option 21D : 6306803674677
Option 31D : 6306803674679
Option 41D : 6306803674680
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Q18 WWhich of the following numbers is NOT divisible by 4?
Ans X 1. 7524
2 9614
X3 5128
X 4 1588
Question ID : 630680937545
Option 11D : 6306803674663
Option 2 D : 6306803674662
Option 3 ID : 6306803674664
Option 4 D : 6306803674661
Q19 YWhat is the average of prime numbers between 51 and 75?2
Ans X 1. 68
X2 62
X3 67
4 04
Question ID : 630680937692
Option 11D : 6306803675249
Option 2 D : 6306803675252
Option 3 ID : 6306803675250
Option 4 D : 6306803675251
Q.20

What is the value of 0.00004 + 0.4 + 0.04 + 0.004?
Ans X 1. 0.00444
< 2.0.33440
< 3.0.84324
« 4 0.44404

Question ID : 630680937704

Option 11D : 6306803675298
Option 21D : 6306803675299
Option 31D : 6306803675300
Option 4 ID : 6306803675297

Section : Arithmetical and Numerical Ability 2
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Q.1 Rohan spends some part of his income and saves the remaining part. The respective ratio of his expenditure and saving
is 4 :5.1f Rohan’s income is ¥ 72000, then what will be his expenditure?

Ans 71 % 32000
X 2.7 16000
# 3.7 40000
X 4.F 24000

Question ID : 630680937798

Option 11D : 6306803675676
Option 21D : 6306803675673
Option 31D : 6306803675674
Option 4 ID : 6306803675675

Q.2 A miniature model of a square park has sides of length 7 cm, and a 2 cm wide path inside it running along its boundary.
‘What is the area of the path in the model?

Ans

71 24 cm?
X2 72 cm?
X3 35 cm?
X 4 96 cm?

Question ID : 630680937568

Option 11D : 6306803674754
Option 21D : 6306803674755
Option 31D : 6306803674753
Option 41D : 6306803674756

Q.3 Abus travels % of its total journey at its usual speed. The remaining distance is covered by the bus at %rd of its usual
speed. Due to the slower speed it reaches its destination 240 minutes late. If the total distance of its journey is 210 km,
then what is the usual speed of the bus?

Ans 1. 75 kvhr
X 2. 90 km/hr
A 3. 60 kmv/hr
X 4. 85 km/hr

Question ID : 630680937644

Option 11D : 6306803675057
Option 21D : 6306803675060
Option 31D : 6306803675059
Option 4 1D : 6306803675058
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Q.4 Aalone can do a work in 34.4 days. B is 15 percent more efficient than A. C is 20 percent less efficient than B. Which
of the following statement(s) is/are correct?
L B alone can do the same work in 28 days.
II. B and C together can do the same work in 70/3 days.

Ans 1. Only I
X 2. BothIandII
« 3. Neither I nor II
X 4 OnlyI

Question ID : 630680937721

Option 11D : 6306803675366
Option 21D : 6306803675367
Option 31D : 6306803675368
Option 4 ID : 6306803675365

Q.5 M, N and O started a partnership investing Rs. 20000, Rs. 20000 and Rs. 30000 respectively. They stayed in partnership
for 5 years, 6 years and 3 years respectively. If N's share in the total profit was Rs. 6000, then what was the total profit?

Ans 1. Rs. 15500
X 2. Rs. 14200
X 3. Rs. 12600
X 4. Rs. 15400

Question ID : 630680937679

Option 11D : 6306803675198
Option 21D : 6306803675200
Option 31D : 6306803675197
Option 41D : 6306803675199

Q.6  The areas of a square and a rectangle are equal. The length of the rectangle is 8 cm more than the side of the square and
its breadth is 4 cm less than the side of the square. What is the perimeter of the rectangle?

Ans 1. 40 cm
X2 52cm
X3 32cm
X4 26cm

Question ID : 630680937529

Option 11D : 6306803674600
Option 21D : 6306803674598
Option 31D : 6306803674599
Option 4 ID : 6306803674597
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Q.7 A person borrows some money for 10 years at a certain rate of simple interest. If the respective ratio of principal and
total interest is 5 : 1, then what is the annual rate of interest?

Ans  X'1. 4.5 percent
X 2. 2.5 percent
« 3. 2 percent

X 4. 4 percent

Question ID : 630680937614

Option 11D : 6306803674937
Option 21D : 6306803674938
Option 31D : 6306803674940
Option 41D : 6306803674939

Q.8  The length of one of the diagonals of a quadrilateral is 24 cm. The lengths of the perpendiculars drawn on this diagonal
from the other two vertices are 6 cm and 14 cm respectively. What is the area of the quadrilateral?

Ans X1 260 em?

%2180 cm?
v 3 240 cm’

X4 120 cm?

Question ID : 630680937530

Option 11D : 6306803674601
Option 2 1D : 6306803674604
Option 31D : 6306803674603
Option 41D : 6306803674602

Q9 The radius of a sphere is 5.6 cm. What is the total surface area of the sphere? (Use w = ?)

Ans

X1 352.96 cm?
X2 41236 cm?
¥ 3 394.24 cm?
X 4 378.48 cm?

Question ID : 630680937726

Option 11D : 6306803675385
Option 21D : 6306803675388
Option 31D : 6306803675387
Option 4 1D : 6306803675386
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Q.10 A train crosses a standing pole in 25 seconds and a 540 m long platform in 55 seconds. What are, respectively, the
length and the speed of the train?

X 1. 12 kmv/hr, 24 km/hr
X 2. 8 kmv/hr, 17 kmv/hr

v 3 13 km/hr, 25 km/hr
X 415 kmv/hr, 25 km/hr

Ans X 1. 400 metres, 24 m/s
X 2. 500 metres, 20 m/s
X 3. 380 metres. 30 m/s
o 4. 450 metres, 18 m/s
Question ID : 630680937603
Option 11D : 6306803674894
Option 21D : 6306803674896
Option 31D : 6306803674893
Option 4 ID : 6306803674895
Q.11 If the speed of a boat in still water is 19 km/hr and the speed of the stream is 6 ki/hr, then what are respectively the
upstream and the downstream speeds of the boat?
Ans

Question ID : 630680937562
Option 11D : 6306803674729
Option 2 1D : 6306803674732
Option 31D : 6306803674731
Option 4 ID : 6306803674730
Q.12 Asumof %9000 becomes % 10250 in 5 years at simple interest. If the rate of interest becomes 3 times of itself,
then how much this sum will become in these 5 years?
Ans X 1.Z 12900
2.2 12750
X3 F 11250
X 4.Z 13200
Question ID : 630680937774
Option 11D : 6306803675577
Option 21D : 6306803675579
Option 31D : 6306803675580
Option 41D : 6306803675578
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Q.13 Ifa person earns ‘)i percent profit on the selling price of an item, then what will be his profit percentage on the cost
price of the item?

Ans % 1. 11.11 percent
« 2. 10 percent
X 3. 33.33 percent

X 4. 12.5 percent

Question ID : 630680937592
Option 11D : 6306803674852
Option 21D : 6306803674850
Option 31D : 6306803674849
Option 4 1D : 6306803674851
Q.14 Amit alone can do 3 of a piece of work in 3 hours. Sumit alone can do % of the same work in 6 hours. If they work
together, then how many hours will they take to complete 2 of the same work?
Ans X1. 3.6 hours
A 2. 2.8 hours
X 3. 2.5 hours
« 4 2.4 hours
Question ID : 630680937640
Option 11D : 6306803675041
Option 21D : 6306803675043
Option 31D : 6306803675044
Option 41D : 6306803675042
Q15 IfR:S=7:2, then what is the value of (R—S) : (R+S)?
Ans X1.5:8
¥v25:9
X3 5:11
Xa5:7
Question ID : 630680937517
Option 11D : 6306803674552
Option 21D : 6306803674550
Option 31D : 6306803674549
Option 4 1D : 6306803674551
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Q.16 The sum of the length and breadth of a cuboid is 10 em. If the height of the cuboid is twice of the sum of its length and
breadth, then what is the lateral surface area of the cuboid?

1 400 cm?
X2 600 ecm?
X3 500 cm?

Ans

X 4 300 cm?

Question ID : 630680937727

Option 11D : 6306803675391
Option 21D : 6306803675390
Option 31D : 6306803675392
Option 41D : 6306803675389

Q.17 If the radius of a sphere is four times of the radius of a hemisphere, then what will be the respective ratio of their
volumes?

Ans X1 256: 1
2 128 :1
X3.64:3
X4.32:5

Question ID : 630680937686

Option 11D : 6306803675227
Option 21D : 6306803675226
Option 3 1D : 6306803675225
Option 4 ID : 6306803675228

Q.18 If 91 shirts are bought for ¥ 12740, then how many shirts must be sold for ¥ 12558 to earn a profit of 30 percent?

Ans X 1. 59
V2 69
X3 89
X479

Question ID : 630680937713

Option 11D : 6306803675334
Option 21D : 6306803675335
Option 31D : 6306803675336
Option 4 ID : 6306803675333



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q19 TIfE:F=11: 4, then what is the value of E+F : F?
Ans X 1. 4:15

2 154

K3 11:4

K413:4

Question ID : 630680937516

Option 11D : 6306803674546
Option 21D : 6306803674545
Option 31D : 6306803674548
Option 4 ID : 6306803674547

Q.20 If price of chairs is increased by 45 percent, then a person can buy 36 chairs less for ¥ 37120. What is the original price
of a chair?

Ans 13320
X 2.3 400
X 33420
X 4. 3300

Question ID : 630680937710

Option 11D : 6306803675321
Option 21D : 6306803675322
Option 31D : 6306803675323
Option 4 1D : 6306803675324

Section : Test of English Language and Comprehension 1

Q.1 Fill in the blank with the appropriate option:

fast that | can't understand him.

He speaks
Ans X 1.enough

5 2. very
" 3.0
X 4.to

Question ID : 630680938431

Option 11D : 6306803678166
Option 21D : 6306803678163
Option 31D : 6306803678165
Option 4 ID : 6306803678164
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Q.2 Given below is a sentence with an error in the underlined segment. Say which of the options

can replace the segment to make the sentence grammatically correct. If there is no error,
choose ‘No error’:

Few people will remember too much detail of their early childhood.
Ans & 1. from their early childhood.

5 2. for their early childhood.
25 3.no error

75 4. in their early childhood.

Question ID : 630680938609

Option 11D : 6306803678829
Option 21D : 6306803678827
Option 31D : 6306803678830
Option 41D : 6306803678828

Q.3 Choose the option which is synonym of the word "elated"” in the sentence given below:

She was elated when she won the lottery.
Ans X 1.depressed

25 2. confused
/% 3. anguished

" 4. ecstatic

Question ID : 630680938363

Option 11D : 6306803677915
Option 21D : 6306803677918
Option 31D : 6306803677917
Option 41D : 6306803677916

Q.4 Choose the option which is antonym of (opposite of) the word tranquil in the sentence given
below

She enjoyed the tranquil atmosphere of the library, where she could read in peace.
Ans X 1.serene
5 2. discord
25 3. quiet
«” 4. noisy

Question ID : 630680938577

Option 11D : 6306803678711
Option 21D : 6306803678712
Option 31D : 6306803678714
Option 41D : 6306803678713
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Q.5 Fill in the blank with the correct article:

He ordered pizza and
Ans X 1.no article, an

salad for dinner.

X 2.an,an
X 3.an,a

" 4.3, no article

Question ID : 630680938391

Option 11D : 6306803678016
Option 21D : 6306803678018
Option 31D : 6306803678017
Option 41D : 6306803678015

Q.6 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. Nokia failed to adapt to the changing market and consumer preferences, and lost its
competitive edge to rivals like Apple and Samsung.

B. Nokia was once the world's largest and most successful mobile phone company,
dominating the industry for over a decade.

C. It sold its mobile phone business to Microsoft in 2014, marking the end of an era for the
Finnish giant.

D. However, the rise of smartphones and touchscreens in the late 2000s posed a serious
challenge to Nokia's dominance.

Ans 4 1.BDAC
< 2.BACD
7< 3.DCBA
< 4.BCAD

Question ID : 630680938482

Option 11D : 6306803678355
Option 2 1D : 6306803678356
Option 3 ID : 6306803678357
Option 4 1D : 6306803678358

Q.7 Given below is a sentence with an error in the underlined segment. Say which of the options
can replace the segment to make the sentence grammatically correct. If there is no error,
choose ‘No error’

She is considered a smartest by many people in her occupation.
Ans X 1.smartest by many people

" 2. the smartest by many people
#5 3.no error

75 4. this smartest by many people

Question ID : 630680938605

Option 11D : 6306803678812
Option 21D : 6306803678811
Option 31D : 6306803678814
Option 41D : 6306803678813
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Q.8 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

He (hit the books) the night before the exam.
Ans X 1.damaged the books

25 2. threw the books
& 3. borrowed the books
" 4. studied hard

Question ID : 630680938529

Option 11D : 6306803678532
Option 21D : 6306803678533
Option 31D : 6306803678534
Option 4 ID : 6306803678531

Q.9 Choose the option which is antonym of the word "coherent" in the sentence given below:

His speech was coherent and well-organized.
Ans X 1. lucid

25 2. logical
25 3. consistent

" 4. confusing

Question ID : 630680938405

Option 11D : 6306803678074
Option 21D : 6306803678071
Option 31D : 6306803678072
Option 4 ID : 6306803678073

Q.10 Choose the correct one-word substitution for the sentence/phrase given below:

A series of stars
Ans X 1.cluster

«# 2. constellation
2% 3. solar system
X 4. gallery

Question ID : 630680938612

Option 11D : 6306803678842
Option 21D : 6306803678839
Option 31D : 6306803678841
Option 41D : 6306803678840
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Q.11 Choose the most appropriate meaning of the idiom given below:

Costs an arm and a leg
Ans X 1.Eased the tension

«# 2. Very expensive
5 3. Started a fight

5 4. Made everyone laugh

Question ID : 630680938531

Option 11D : 6306803678541
Option 2 ID : 6306803678539
Option 31D : 6306803678542
Option 4 ID : 6306803678540

Q.12 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. He also discovers that he is a famous wizard, as he survived an attack by the dark lord
Voldemort when he was a baby.

B. Harry Potter is a series of fantasy novels written by J.K. Rowling, which have sold over
500 million copies worldwide.

C. The novels follow the adventures of Harry Potter and his friends, who attend the
Hogwarts School of Witchcraft and Wizardry.

D. On his eleventh birthday, Harry Potter learns that he is a wizard, when he receives a letter
of acceptance from Hogwarts.

Ans X 1.BCAD
< 2.BACD
& 3. BCDA
X 4.DCBA

Question ID : 630680938524

Option 11D : 6306803678514
Option 2 1D : 6306803678512
Option 31D : 6306803678511
Option 4 1D : 6306803678513

Q.13 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

He (saw the light) after reading the book.
Ans X 1.had a vision

2% 2. turned on the lamp
" 3. understood the truth

< 4. experienced horror

Question ID : 630680938615

Option 11D : 6306803678853
Option 21D : 6306803678851
Option 31D : 6306803678852
Option 4 ID : 6306803678854
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Q.14 Fill in the blank with the appropriate article:

She is fan of J.K. Rowling. She has read all her books.
Ans X 1.no article
w2 a
X 3.an
X 4. the

Question ID : 630680938515

Option 11D : 6306803678478
Option 2 1D : 6306803678475
Option 31D : 6306803678476
Option 4 ID : 6306803678477

Q.15 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. He is widely regarded as one of the most influential and significant cultural figures of the
20th century, and is also recognized as the most successful entertainer of all time by
Guinness World Records.

B. Michael Jackson was an American singer, songwriter, and dancer, who is often referred
to as the “King of Pop”.

C. He achieved global fame as the lead singer of the Jackson 5, a group he formed with his

brothers in the late 1960s, and later embarked on a solo career that spanned four decades,
from the 1970s to the 2000s.

D. He was also known for his groundbreaking music videos, such as “Thriller”, “Beat It”, and
“Smooth Criminal”, his distinctive vocal style, his signature dance moves, such as the
moonwalk and the robot, and his humanitarian and philanthropic efforts.

Ans X 1.CBAD
X 2. ABCD
& 3.BCAD
< 4.DBCA

Question ID : 630680938395

Option 11D : 6306803678033
Option 2 ID : 6306803678031
Option 31D : 6306803678032
Option 4 ID : 6306803678034

Q.16 Fill in the blank with correct part of speech:

He has friends in this city.
Ans X 1.much

o 2. many
X 3. less
X 4. fewer

Question ID : 630680938349

Option 11D : 6306803677860
Option 2 1D : 6306803677859
Option 31D : 6306803677862
Option 4 ID : 6306803677861
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Q.17 Fill in the blank with the correct preposition:

He spoke
Ans X 1.by

25 2. with
X 3. for
w 4.in

a low voice.

Question ID : 630680938604

Option 11D : 6306803678809
Option 21D : 6306803678810
Option 31D : 6306803678808
Option 4 ID : 6306803678807

Q.18 Fill in the blank with the appropriate article.

Jaya has highest score in the class.
Ans X 1.an
X 2.a
25 3.no article
o 4.the

Question ID : 630680938557

Option 11D : 6306803678632
Option 21D : 6306803678631
Option 31D : 6306803678634
Option 41D : 6306803678633

Q.19 Fill in the blank with the correct part of speech:

He ran the street to catch the bus.
Ans X 1.around

Z5 2. through
«” 3. across
25 4. along

Question ID : 630680938346

Option 11D : 6306803677849
Option 21D : 6306803677850
Option 31D : 6306803677847
Option 4 ID : 6306803677848
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Q.20 Fill in the blank with correct part of speech:

Thisisa novel by Anita Nair.
Ans o 1. beautiful

X 2. first

X 3. art
X 4. cover

Question ID : 630680938301

Option 11D : 6306803677679
Option 21D : 6306803677682
Option 31D : 6306803677680
Option 4 ID : 6306803677681

Section : Test of English Language and Comprehension 2

Q.1 Choose the word that best completes the sentence:

a movie.

They went to
Ans X 1.seed

& 2. secede
& 3. cede
" 4. see

Question ID : 630680938408

Option 11D : 6306803678084
Option 21D : 6306803678085
Option 31D : 6306803678083
Option 4 ID : 6306803678086

Q.2 Choose the most appropriate meaning of the idiom given below:

at the drop of a hat
Ans  # 1. without hesitation

/5 2. at special times
2% 3. without any prior though

X 4. at all occasions

Question ID : 630680938573

Option 11D : 6306803678696
Option 21D : 6306803678698
Option 31D : 6306803678697
Option 4 ID : 6306803678695
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Q.3 Choose the option which is antonym of the word 'adversity' in the sentence given below:

He showed great courage and resilience in the face of adversity.
Ans o 1. prosperity

25 2. misfortune
5 3. hardship
X 4. calamity

Question ID : 630680938403

Option 11D : 6306803678065
Option 21D : 6306803678064
Option 31D : 6306803678063
Option 41D : 6306803678066

Q.4 The sentence given below is divided in to three segments. Choose the segment which has a
spelling error. If there are no errors, choose No error option.

Her indispensible/ contributions to the/ project were acknowledged.
Ans X 1.No error

2% 2. contributions to the
4" 3. Her indispensable

& 4. project were acknowledged

Question ID : 630680938624

Option 11D : 6306803678890
Option 21D : 6306803678888
Option 31D : 6306803678887
Option 4 1D : 6306803678889

Q.5 Which word is a homonym of bear ?
Ans X 1.bore

25 2. buyer
5 3. beer
«” 4. bare

Question ID : 630680938622

Option 11D : 6306803678882
Option 21D : 6306803678881
Option 31D : 6306803678880
Option 41D : 6306803678879
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Spartans, inhabitants of the ancient Greek city-state of Sparta, were renowned for their
formidable military (1) and disciplined way of life. Living in a society that prioritized
collectivism Spartans were trained from a( 2) age in the art of warfare. Spartan society
was (3) around a rigid system known as the agoge, an education and training
program that (4) to mould young Spartans into formidable warriors. This system
focused on (5) qualities such as discipline, loyalty, and physical fitness.

SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank number (1).
Ans 4 1.prowess

5 2. mastery
X 3. talent
/5 4. aptitude

Question ID : 630680938626

Option 11D : 6306803678892
Option 21D : 6306803678893
Option 31D : 6306803678891
Option 4 ID : 6306803678894

Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Spartans, inhabitants of the ancient Greek city-state of Sparta, were renowned for their
formidable military (1) and disciplined way of life. Living in a society that prioritized
collectivism Spartans were trained from a( 2) age in the art of warfare. Spartan society
was (3) around a rigid system known as the agoge, an education and training
program that (4) to mould young Spartans into formidable warriors. This system
focused on (5) qualities such as discipling, loyalty, and physical fitness.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank number (2).
Ans X 1.primary

45 2. nascent
5 3.infant

«" 4. young

Question ID : 630680938627

Option 11D : 6306803678898
Option 21D : 6306803678895
Option 31D : 6306803678897
Option 41D : 6306803678896
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Spartans, inhabitants of the ancient Greek city-state of Sparta, were renowned for their
formidable military (1) and disciplined way of life. Living in a society that prioritized
collectivism Spartans were trained from a( 2) age in the art of warfare. Spartan society
was (3) around a rigid system known as the agoge, an education and training
program that (4) to mould young Spartans into formidable warriors. This system
focused on (5) qualities such as discipline, loyalty, and physical fitness.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number (3).
Ans X 1. constructed

5 2. arranged
" 3. structured

5 4. classified

Question ID : 630680938628

Option 11D : 6306803678899
Option 21D : 6306803678900
Option 31D : 6306803678902
Option 4 ID : 6306803678901

Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Spartans, inhabitants of the ancient Greek city-state of Sparta, were renowned for their
formidable military (1) and disciplined way of life. Living in a society that prioritized
collectivism Spartans were trained from a( 2) age in the art of warfare. Spartan society
was (3) around a rigid system known as the agoge, an education and training
program that (4) to mould young Spartans into formidable warriors. This system
focused on (5) qualities such as discipling, loyalty, and physical fitness.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number (4).
Ans o 1.aimed

#5 2. resolved

75 3. proposed
25 4. wished

Question ID : 630680938629

Option 11D : 6306803678905
Option 21D : 6306803678903
Option 31D : 6306803678904
Option 41D : 6306803678906
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Spartans, inhabitants of the ancient Greek city-state of Sparta, were renowned for their
formidable military (1) and disciplined way of life. Living in a society that prioritized
collectivism Spartans were trained from a( 2) age in the art of warfare. Spartan society
was (3) around a rigid system known as the agoge, an education and training
program that (4) to mould young Spartans into formidable warriors. This system
focused on (5) qualities such as discipline, loyalty, and physical fitness.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number (5).
Ans o 1. instilling

2 2. infusing
2 3.inserting

/5 4. injecting

Question ID : 630680938630

Option 11D : 6306803678910
Option 21D : 6306803678907
Option 31D : 6306803678909
Option 4 1D : 6306803678908

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Released in 1997 and directed by James Cameron, "Titanic" remains a cinematic masterpiece
that captured the hearts of audiences worldwide. The film recounts the tragic love story
between Jack Dawson, played by Leonardo DiCaprio, and Rose DeWitt Bukater, portrayed by
Kate Winslet, against the backdrop of the ill-fated maiden voyage of the RMS Titanic.

"Titanic" seamlessly weaves historical drama with romance, showcasing Cameron's
directorial prowess and attention to detail. The film's stunning visual effects and meticulous
recreation of the iconic ship earned it critical acclaim and numerous accolades, including 11
Academy Awards.

Beyond its technical achievements, "Titanic" struck an emotional chord, with its timeless tale
of love and loss. The chemistry between DiCaprio and Winslet, coupled with James Horner's
iconic musical score, contributed to the film's enduring cultural impact.

"Titanic" not only became the highest-grossing film of its time but also left an indelible mark
on popular culture. Decades after its release, the image of Jack and Rose at the ship's bow,
with the haunting refrain of "My Heart Will Go On," continues to evoke nostalgia and remains a
symbol of cinematic storytelling at its finest.

SubQuestion No : 11
Q.11 What is the antonym of the word “indelible” as used in the passage?
Ans o 1. Temporary

5 2. Contemporary
5 3. debatable
/5 4. Casted

Question ID : 630680938555

Option 11D : 6306803678623
Option 21D : 6306803678626
Option 31D : 6306803678624
Option 4 ID : 6306803678625
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Released in 1997 and directed by James Cameron, "Titanic" remains a cinematic masterpiece
that captured the hearts of audiences worldwide. The film recounts the tragic love story
between Jack Dawson, played by Leonardo DiCaprio, and Rose DeWitt Bukater, portrayed by
Kate Winslet, against the backdrop of the ill-fated maiden voyage of the RMS Titanic.

"Titanic" seamlessly weaves historical drama with romance, showcasing Cameron's
directorial prowess and attention to detail. The film's stunning visual effects and meticulous
recreation of the iconic ship earned it critical acclaim and numerous accolades, including 11
Academy Awards.

Beyond its technical achievements, "Titanic" struck an emotional chord, with its timeless tale
of love and loss. The chemistry between DiCaprio and Winslet, coupled with James Horner's
iconic musical score, contributed to the film's enduring cultural impact.

"Titanic" not only became the highest-grossing film of its time but also left an indelible mark
on popular culture. Decades after its release, the image of Jack and Rose at the ship's bow,
with the haunting refrain of "My Heart Will Go On," continues to evoke nostalgia and remains a
symbol of cinematic storytelling at its finest.

SubQuestion No : 12
Q.12 How is the passage structured?
Ans X 1. Problem - Solution - Evaluation

/5 2. Cause - Effect - Implication
%" 3. Introduction - Body - Conclusion

5 4. Comparison - Contrast - Synthesis

Question ID : 630680938556

Option 11D : 6306803678628
Option 21D : 6306803678629
Option 31D : 6306803678627
Option 41D : 6306803678630
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Released in 1997 and directed by James Cameron, "Titanic" remains a cinematic masterpiece
that captured the hearts of audiences worldwide. The film recounts the tragic love story
between Jack Dawson, played by Leonardo DiCaprio, and Rose DeWitt Bukater, portrayed by
Kate Winslet, against the backdrop of the ill-fated maiden voyage of the RMS Titanic.

"Titanic" seamlessly weaves historical drama with romance, showcasing Cameron's
directorial prowess and attention to detail. The film's stunning visual effects and meticulous
recreation of the iconic ship earned it critical acclaim and numerous accolades, including 11
Academy Awards.

Beyond its technical achievements, "Titanic" struck an emotional chord, with its timeless tale
of love and loss. The chemistry between DiCaprio and Winslet, coupled with James Horner's
iconic musical score, contributed to the film's enduring cultural impact.

"Titanic" not only became the highest-grossing film of its time but also left an indelible mark
on popular culture. Decades after its release, the image of Jack and Rose at the ship's bow,
with the haunting refrain of "My Heart Will Go On," continues to evoke nostalgia and remains a
symbol of cinematic storytelling at its finest.

SubQuestion No : 13
Q.13 What is the central theme of the passage?
Ans o 1. The romance of “Titanic”

/< 2. The innovation of “Titanic”
/5 3. The tragedy of “Titanic”
5 4. The history of “Titanic”

Question ID : 630680938553

Option 11D : 6306803678617
Option 21D : 6306803678616
Option 31D : 6306803678618
Option 41D : 6306803678615
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Released in 1997 and directed by James Cameron, "Titanic" remains a cinematic masterpiece
that captured the hearts of audiences worldwide. The film recounts the tragic love story
between Jack Dawson, played by Leonardo DiCaprio, and Rose DeWitt Bukater, portrayed by
Kate Winslet, against the backdrop of the ill-fated maiden voyage of the RMS Titanic.

"Titanic" seamlessly weaves historical drama with romance, showcasing Cameron's
directorial prowess and attention to detail. The film's stunning visual effects and meticulous
recreation of the iconic ship earned it critical acclaim and numerous accolades, including 11
Academy Awards.

Beyond its technical achievements, "Titanic" struck an emotional chord, with its timeless tale
of love and loss. The chemistry between DiCaprio and Winslet, coupled with James Horner's
iconic musical score, contributed to the film's enduring cultural impact.

"Titanic" not only became the highest-grossing film of its time but also left an indelible mark
on popular culture. Decades after its release, the image of Jack and Rose at the ship's bow,
with the haunting refrain of "My Heart Will Go On," continues to evoke nostalgia and remains a
symbol of cinematic storytelling at its finest.

SubQuestion No : 14
Q.14 What is the tone of the passage?
Ans X 1. Critical

/< 2. Sarcastic
«” 3. Descriptive

25 4. Argumentative

Question ID : 630680938552

Option 11D : 6306803678611
Option 21D : 6306803678614
Option 31D : 6306803678612
Option 41D : 6306803678613
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Released in 1997 and directed by James Cameron, "Titanic" remains a cinematic masterpiece
that captured the hearts of audiences worldwide. The film recounts the tragic love story
between Jack Dawson, played by Leonardo DiCaprio, and Rose DeWitt Bukater, portrayed by
Kate Winslet, against the backdrop of the ill-fated maiden voyage of the RMS Titanic.

"Titanic" seamlessly weaves historical drama with romance, showcasing Cameron's
directorial prowess and attention to detail. The film's stunning visual effects and meticulous
recreation of the iconic ship earned it critical acclaim and numerous accolades, including 11
Academy Awards.

Beyond its technical achievements, "Titanic" struck an emotional chord, with its timeless tale
of love and loss. The chemistry between DiCaprio and Winslet, coupled with James Horner's
iconic musical score, contributed to the film's enduring cultural impact.

"Titanic" not only became the highest-grossing film of its time but also left an indelible mark
on popular culture. Decades after its release, the image of Jack and Rose at the ship's bow,
with the haunting refrain of "My Heart Will Go On," continues to evoke nostalgia and remains a
symbol of cinematic storytelling at its finest.

SubQuestion No : 15
Q.15 Which of the following can be inferred from the passage?
Ans X 1."Titanic” is a musical film

5 2. “Titanic” is a controversial film
«# 3. “Titanic” is a nostalgic film

X 4. “Titanic” is based on a true story

Question ID : 630680938554

Option 11D : 6306803678620
Option 21D : 6306803678621
Option 31D : 6306803678622
Option 41D : 6306803678619
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

The Iron Age, spanning from around 1200 BCE to 500 CE, represents a significant juncture in
human history marked by the widespread adoption of iron tools and weaponry. Building upon
the technological advancements of the preceding Bronze Age, the use of iron offered
societies a more abundant and cost-effective resource, leading to transformative changes
across the globe.

This era witnessed the rise and fall of powerful civilizations, such as the Hittites, Assyrians,
and later the Roman Empire and Han Dynasty, each making significant strides in governance,
trade, and military prowess. The increased availability of iron facilitated agricultural
improvements, allowing for more efficient farming tools and, consequently, population
growth.

Ironworking techniques also played a crucial role in shaping cultural practices, as evidenced
by intricate iron artifacts and weaponry. The Iron Age represents a period of dynamic social
and economic evolution, contributing to the formation of empires, the codification of laws,
and the development of intricate belief systems.

As societies transitioned from the reliance on bronze to the widespread use of iron, the Iron
Age laid the groundwork for the subsequent chapters of human history, leaving an enduring
legacy in the annals of civilization.

SubQuestion No : 16
Q.16 What is the central theme of the passage?
Ans o 1. The history of the Iron Age

/% 2. The significance of the Iron Age
/5 3. The transition of the Iron Age

/5 4. The metallurgy of the Iron Age

Question ID : 630680938633

Option 11D : 6306803678915
Option 21D : 6306803678917
Option 31D : 6306803678918
Option 41D : 6306803678916
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

The Iron Age, spanning from around 1200 BCE to 500 CE, represents a significant juncture in
human history marked by the widespread adoption of iron tools and weaponry. Building upon
the technological advancements of the preceding Bronze Age, the use of iron offered
societies a more abundant and cost-effective resource, leading to transformative changes
across the globe.

This era witnessed the rise and fall of powerful civilizations, such as the Hittites, Assyrians,
and later the Roman Empire and Han Dynasty, each making significant strides in governance,
trade, and military prowess. The increased availability of iron facilitated agricultural
improvements, allowing for more efficient farming tools and, consequently, population
growth.

Ironworking techniques also played a crucial role in shaping cultural practices, as evidenced
by intricate iron artifacts and weaponry. The Iron Age represents a period of dynamic social
and economic evolution, contributing to the formation of empires, the codification of laws,
and the development of intricate belief systems.

As societies transitioned from the reliance on bronze to the widespread use of iron, the Iron
Age laid the groundwork for the subsequent chapters of human history, leaving an enduring
legacy in the annals of civilization.

SubQuestion No : 17
Q.17 What is the tone of the passage?
Ans X 1. Sarcastic

«# 2. Descriptive
2 3. Argumentative
5 4. Critical

Question ID : 630680938632

Option 11D : 6306803678914
Option 21D : 6306803678912
Option 31D : 6306803678913
Option 4 ID : 6306803678911
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

The Iron Age, spanning from around 1200 BCE to 500 CE, represents a significant juncture in
human history marked by the widespread adoption of iron tools and weaponry. Building upon
the technological advancements of the preceding Bronze Age, the use of iron offered
societies a more abundant and cost-effective resource, leading to transformative changes
across the globe.

This era witnessed the rise and fall of powerful civilizations, such as the Hittites, Assyrians,
and later the Roman Empire and Han Dynasty, each making significant strides in governance,
trade, and military prowess. The increased availability of iron facilitated agricultural
improvements, allowing for more efficient farming tools and, consequently, population
growth.

Ironworking techniques also played a crucial role in shaping cultural practices, as evidenced
by intricate iron artifacts and weaponry. The Iron Age represents a period of dynamic social
and economic evolution, contributing to the formation of empires, the codification of laws,
and the development of intricate belief systems.

As societies transitioned from the reliance on bronze to the widespread use of iron, the Iron
Age laid the groundwork for the subsequent chapters of human history, leaving an enduring
legacy in the annals of civilization.

SubQuestion No : 18
Q.18 Which of the following can be inferred from the passage?

Ans X 1.The Iron Age had little impact on the socio economic status of human societies
/% 2. The Iron Age was immediately preceded by the Stone Age
/% 3. The Iron Age was marked by an era of no wars

" 4. The Iron Age is marked by more wars and conquests.

Question ID : 630680938634

Option 11D : 6306803678922
Option 21D : 6306803678919
Option 31D : 6306803678921
Option 41D : 6306803678920
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

The Iron Age, spanning from around 1200 BCE to 500 CE, represents a significant juncture in
human history marked by the widespread adoption of iron tools and weaponry. Building upon
the technological advancements of the preceding Bronze Age, the use of iron offered
societies a more abundant and cost-effective resource, leading to transformative changes
across the globe.

This era witnessed the rise and fall of powerful civilizations, such as the Hittites, Assyrians,
and later the Roman Empire and Han Dynasty, each making significant strides in governance,
trade, and military prowess. The increased availability of iron facilitated agricultural
improvements, allowing for more efficient farming tools and, consequently, population
growth.

Ironworking techniques also played a crucial role in shaping cultural practices, as evidenced
by intricate iron artifacts and weaponry. The Iron Age represents a period of dynamic social
and economic evolution, contributing to the formation of empires, the codification of laws,
and the development of intricate belief systems.

As societies transitioned from the reliance on bronze to the widespread use of iron, the Iron
Age laid the groundwork for the subsequent chapters of human history, leaving an enduring
legacy in the annals of civilization.

SubQuestion No : 19
Q.19 What is the antonym of the word “abundant” as used in the passage?
Ans X 1. Copious

" 2. Scarce
2 3. Plentiful
5 4. Sacred

Question ID : 630680938635

Option 11D : 6306803678926
Option 21D : 6306803678923
Option 3 1D : 6306803678924
Option 4 ID : 6306803678925
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

The Iron Age, spanning from around 1200 BCE to 500 CE, represents a significant juncture in
human history marked by the widespread adoption of iron tools and weaponry. Building upon
the technological advancements of the preceding Bronze Age, the use of iron offered
societies a more abundant and cost-effective resource, leading to transformative changes
across the globe.

This era witnessed the rise and fall of powerful civilizations, such as the Hittites, Assyrians,
and later the Roman Empire and Han Dynasty, each making significant strides in governance,
trade, and military prowess. The increased availability of iron facilitated agricultural
improvements, allowing for more efficient farming tools and, consequently, population
growth.

Ironworking techniques also played a crucial role in shaping cultural practices, as evidenced
by intricate iron artifacts and weaponry. The Iron Age represents a period of dynamic social
and economic evolution, contributing to the formation of empires, the codification of laws,
and the development of intricate belief systems.

As societies transitioned from the reliance on bronze to the widespread use of iron, the Iron
Age laid the groundwork for the subsequent chapters of human history, leaving an enduring
legacy in the annals of civilization.

SubQuestion No : 20

Q.20 Which of the following sentences belongs to the conclusion of the passage?

Ans X 1.Ironworking methods also wielded influence in shaping cultural values, evident in the
intricate iron artifacts and weapons produced.

25 2. The Iron Age, stretching approximately from 1200 BCE to 500 CE, stands out as a
pivotal era in human history characterized by the broad acceptance of iron tools and arms.

5 3. The greater accessibility of iron spurred advancements in agriculture, enabling the
development of more effective farming methods and thus enabling population expansion.

«” 4. As societies shifted from bronze reliance to embracing iron on a wide scale, the Iron

Age established the foundation for future epochs in human history, leaving a lasting impact
on the records of civilization.

Question ID : 630680938636

Option 11D : 6306803678929
Option 21D : 6306803678927
Option 31D : 6306803678928
Option 4 1D : 6306803678930
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Question ID : 630680938984

Option 11D : 6306803680268
Option 21D : 6306803680269
Option 31D : 6306803680270
Option 4 ID : 6306803680267
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Question ID : 630680938788

Option 11D : 6306803679523
Option 2 1D : 6306803679524
Option 31D : 6306803679525
Option 4 1D : 6306803679526
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Question ID : 630680938866

Option 11D : 6306803679822
Option 21D : 6306803679821
Option 31D : 6306803679820
Option 4 1D : 6306803679819
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Question ID : 630680938932

Option 11D : 6306803680073
Option 21D : 6306803680072
Option 31D : 6306803680071
Option 4 ID : 6306803680074
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Question ID : 630680938946
Option 11D : 6306803680124
Option 21D : 6306803680125
Option 31D : 6306803680123
Option 41D : 6306803680126
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Question ID : 630680938817
Option 11D : 6306803679631
Option 21D : 6306803679634
Option 31D : 6306803679633
Option 41D : 6306803679632
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Question ID : 630680938738

Option 11D : 6306803679331
Option 21D : 6306803679333
Option 31D : 6306803679332
Option 4 ID : 6306803679334
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Question ID : 630680938779

Option 11D : 6306803679487
Option 21D : 6306803679488
Option 31D : 6306803679489
Option 4 ID : 6306803679490
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Question ID : 630680938700

Option 11D : 6306803679189
Option 21D : 6306803679190
Option 31D : 6306803679188
Option 41D : 6306803679187
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Question ID : 630680938731

Option 11D : 6306803679304
Option 21D : 6306803679305
Option 31D : 6306803679303
Option 4 ID : 6306803679306
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Ffe 8 & o1 ga o

TR ZRT Y ¢ T A1t A1 ggst yomeft i arsft +ff wwmet # g woTgd uehs @ ok
md fa o afgennd swea fAwr gt & 8

Ans o 1. TXHR gRT T 7T T FITAT i 1T ST TOTTedt
X 2. 3 &7 g AfgeTd sHent IR &1 261 81
25 3. 31 a7t oft THTST H Qo Feigd Uahs & SR
X 4 aEAR T

Question ID : 630680938829

Option 11D : 6306803679679
Option 21D : 6306803679681
Option 31D : 6306803679680
Option 4 ID : 6306803679682

Q.13 fAfaf@a v d, 9rR Renedl J |, 39 9 v o1 794 &R ot Ry 710 ergede & fog sifem
aTeRd kT T faere gl

221 o1 fAT 220, Sr@=dr 3R erdT a1 Udies 21 fait &Y srefiraa erareht awelt-4ifa sra 21
faat Y e & forg Taesrar Sfaat A srg==t ST hY uRang da T8 A
Ans X 1. hifdepIiRal H Tc=rar Y1t & &N T Uddtes & ag fadm|
25 2. whifrenTRat gRT =TT ST & T T Udtes 8, I8 fam|
o 3. SIfAPIRAT 3R W1 YA & T T Ueteh g, T8 fam|
X 4. shifaenTiat et s St & @ § wdles & g8 fadm

Question ID : 630680938762

Option 11D : 6306803679425
Option 2 ID : 6306803679424
Option 31D : 6306803679423
Option 4 ID : 6306803679426
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Q.14 F=faf@a 7 9, 39 R o1 9g9 & w1t g 79 srgeade & sifaw araa o1 3R« e &t

fRrem & &t A fasm &1 aga oifdres wg 8| ot 39 R @it | faem & At A f o
3101t UgTs ol ST T Tk € | 3ATST §H AUCT, huer, Hianse SR gevae & A1y 9 o 33 g
39 Tt hl FelT & Tehd &1

Ans o 1. T1Y & 3FRIT 9R T TFRRT ATSd UR Geh 8707 & UTW e Tehd 8
5 2. 919 8 o Tilal, Tl I SRR gH HIdTSel UR Ueh &0T H UTtd o Tohd 6|
Z5 3. 91 1 g ¥R R SR 89 HITSe UR Ueh &70T H UTd & el ahd & |
75 4. 919 8 g1 oR T STFGRT 89 AT R §© Ul § UTd & hd & |

Question ID : 630680938846

Option 11D : 6306803679744
Option 2 1D : 6306803679745
Option 31D : 6306803679743
Option 4 ID : 6306803679746

Q.15 fRA=fafad un & ar fRrereal 7 @, 39 faerea @1 =a= w2 st & 7 Ftenifh o1 @) eref arer
faerea &1

et & oiea | A9 wal
Ans o 1. S8 §© off FT I HTEAT A B
X 2. 7ot g1 e fradt
25 3. M T AT 3R T a9
X 4. 701 Bt oheR Turart it & et &

Question ID : 630680938947

Option 11D : 6306803680129
Option 21D : 6306803680130
Option 31D : 6306803680127
Option 4 1D : 6306803680128

Q.16 fA=fafE@d usr &, aR fAereal 7 @, 39 T RAeea &1 =g &2 it areryier & fAg U 2reg &1
faeea gh

o<l oifd woR St &t
Ans X 1. G
25 2. e
o 3. TR
X 4. wief

Question ID : 630680938939

Option 11D : 6306803680096
Option 21D : 6306803680098
Option 3 1D : 6306803680097
Option 4 ID : 6306803680095
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Q.17 fA=faf@a w3, ar fAereal 7 @, 39 fRAeea o1 o= = st Ry 1e R w= & g g
hIeTaTaes forar fasivor & U arer faerea &1

3d gH T I & & fag Giccull
Ans o 1.998
25 2. BhaTthe

X 3.3

5 4. =amar

Question ID : 630680938904

Option 11D : 6306803679964
Option 21D : 6306803679963
Option 31D : 6306803679965
Option 4 ID : 6306803679966

Q.18 Ry 7Y a1 & s aret ¥ A I & Tehet & a8 fAeeu 77 ot 39 I 1 St 1|
araef sreaTue & (ST ®l U = 3ngdl, Sr=dt |@fa & ¥ w&A) w1 +ff wars 1)
Ans X 1. B & U&S ST I Med], IRAR I ¥ @A
o 2. BT &l Udeh g STTed, I Wl & g3 3@
X 3. B &l U ST S, Sresl Hf € g 7@
X 4. B & UAeh ST Y STed, I TR T A9 A

Question ID : 630680938930

Option 11D : 6306803680065
Option 21D : 6306803680066
Option 31D : 6306803680063
Option 4 ID : 6306803680064

Q.19 R g arr & wiwa aret ¥nT & FE gl Tond! 8| a8 faeea g7 <7t 39 T8 A S &)

AR R i 3R AU ! GwhTE (FHR WY WR 1Y & arararor & +ff 91w t@ar @) ok g9t
TUH UTS g8 R TR & & fAerar @

Ans X 1. 39R WY WR 1Y & ararearor § off 9 3@dr g
/5 2. EAR WA Sl G1Y ¢ aTdTaRol J Ht 61t 3@l §
X 3SR TEE
o 4. BAR W & 91y & arararor sl off 1k Tt §

Question ID : 630680938679

Option 11D : 6306803679108
Option 2 1D : 6306803679109
Option 31D : 6306803679110
Option 4 ID : 6306803679107
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Q.20 et et A & = a1 fased o gEa arer a9+ & g ararii o a8t @
I Aq a1 2?2

A- TOheTdT UTed &Rl &
B- T9g gR2W Gk Afh
C- Yehule ¥@+ a1et STl aht
D- & ger=T # ifden

Ans  # 1. CBDA
X 2.DACB
< 3.CABD
< 4.DBAC

Question ID : 630680938724

Option 11D : 6306803679279
Option 2 1D : 6306803679280
Option 31D : 6306803679281
Option 4 ID : 6306803679282

Section : Test of Hindi Language and Comprehension 2

Q.1 fF=fafEd g |, 39 areizn wf uganfg fad amEnei @ d@s6fda sixpfgal &) af i merdt
¢l & ot ‘@i g 7 & @ gama Hifdig

gfat & sroa wrar-foar ofiR wid-ag=il & 1/ aTeR ST SR gRem & g 39 argl Y/ eH R
# HeilY IEAT aTehs AoteR 21

Ans o 1. TSR TEE
25 2. STER ST 3R gAm & forg 3 arel oY
25 3. 37U et # Toily T aTehs ASieR B
X 4. gt & o arar-Riar ofR W & @y

Question ID : 630680938785

Option 11D : 6306803679514
Option 2 1D : 6306803679512
Option 3 ID : 6306803679513
Option 4 ID : 6306803679511

Q.2 fa=fafad uy A, ar Reel & @, 39 e &1 og= &R it Ry 71 21eg & gafaar ereg & 98
e adi 21

hg eIl
Ans X 1.%H5
o 2. g

X 3. Fwu

X 4.7

Question ID : 630680938751

Option 11D : 6306803679383
Option 21D : 6306803679386
Option 3 1D : 6306803679385
Option 4 ID : 6306803679384
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Q.3 fA=fafad usr &, IR faenl & |, 39 faere o1 aa= &R 51t Ry 71v 2ree & yafgarh e o ot

faerea T 21
R
Ans X 1.95
o 2. P
X 3. ety
X4 TS
Question ID : 630680938795
Option 11D : 6306803679551
Option 21D : 6306803679553
Option 31D : 6306803679554
Option 41D : 6306803679552
Q.4 fF=faf@a & @, 39 faered o1 wg= &< Sit 3T 71T 2re &1 dga a8l
qor
Ans X 1.4<
o 2. faem
X 3.
X 4.@Ra
Question ID : 630680938873
Option 11D : 6306803679847
Option 21D : 6306803679848
Option 31D : 6306803679850
Option 41D : 6306803679849

Q.5 fA=feafad uy A, ar el & @, 39 faereu &1 wg= &R it 2 7 21ee & oo 2ree o1 fAerea

gl
werrta
Ans X 1.aRs
X 2.9y
o 3. e
X 4. fRm
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680939004

: 6306803680348
: 6306803680350
: 6306803680347
1 6306803680349
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Q.6 fA=faf@d ¥R faereal & @, 39 frerea o1 =T+ &R Sit fRY 7T 2reg a1 emenTeft 21
heh
Ans X 1.3
K 2. @
X 3. afgae
o 4. et

Question ID : 630680938917

Option 11D : 6306803680016
Option 21D : 6306803680015
Option 31D : 6306803680018
Option 41D : 6306803680017

Q.7 fF=afaf@ad , 39 faerey o1 =a= &R St Y 710 2reg a1 fAeiamf 21
St
Ans o 1330
X 2. s
X 3. s
X 4. ufoat

Question ID : 630680938836

Option 11D : 6306803679710
Option 21D : 6306803679707
Option 31D : 6306803679708
Option 4 1D : 6306803679709

Q.8 fFr=fefEa arer & sy arein &t uganig afg Fig siyfs 781 & at ‘@i A 78 & o1 ==
HifSig

g Y 59 8 & el gt & fob & Ieher St & WS/ ge S @ SR U8l ae i S1us ulsrl
I ot IHE AT/ A Y TeTe & A B

Ans X 1. %A H TaTg A T B
X 2. 9% 99 39 @ Y thell g1l & foh @l Teha™ ol 9 i
X 3R TE
o 4. 8¢ A & SR Tl doh Y erut uferat ot oft Teher 1

Question ID : 630680938869

Option 11D : 6306803679833
Option 21D : 6306803679831
Option 31D : 6306803679834
Option 41D : 6306803679832
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Q.9 f=fafad ar el 3 @, 39 faerea o1 aa= & St Ry 71T 2reg, &1 saTefT 8 &1

sRe

Ans X 1.<8gA
X 2. %
o 3. 3eH
X 4. gt

Question ID : 630680938874

Option 11D : 6306803679853
Option 21D : 6306803679851
Option 31D : 6306803679854
Option 41D : 6306803679852

Q.10 fA=faf@d uwr &, R fereal A @, 39 fArerea &1 @ w3 St Ry 710 21eg & dga & arer 98l
e 21

[

Ans X 1.afer
X 2.5dd
o 3. 5F
X 4 gue

Question ID : 630680938748

Option 11D : 6306803679371
Option 2 1D : 6306803679374
Option 31D : 6306803679372
Option 4 ID : 6306803679373

Comprehension:

12 g M3 Terie H e e Bi 53 1y & werier st eryden ue SR fed g wet et SR &l

e & &6 s a1 UTd §Y &1 faT = Aa ot Sfied Ut o Hahleet sge ST e 81 Uk
TR AT ST WG T Sfia Tgd S T, TR HFd = 3707 T S areff srfdHeat wR, fam &Y ieg
T___ U R g AT A BB A gt A G wie I & vdes Shid &t fAs & THehR & J1ems
Ao e T T ok &1 e & ATes 9 € oiTeT g1 deiattolt § S[E U &, fordent IudiT &d
qaST 3R 31T SH-ST1a Sl T S h foTQ e 81 ST o AR | g STt o Hi ohed), S&d A
Hirgd & T8 Hgl A el AT o1 e 81 shed & A1 o &% ek & <t ugel gld €1 e 3Tt avg, T
& THHR chl JehRTcAch T ) & 3k oft &1 STgf i = Ara S o Sfiae o=t fovan & a8t
3T A4 oh o a1 AR ot TR fonan 81 A A 9392 8 IR 391 1 e gAR uepfa eiR
ygfaRor &t 7€ S H Agayof [EEIEE

SubQuestion No : 11
Q.11 s 3 a4 &1 Sfia= uget & qerraat dga A1 A g1
Ans o 1. 3T

& 2. HfE
3.
X 4. wgm

Question ID : 630680938851

Option 11D : 6306803679762
Option 21D : 6306803679761
Option 3 1D : 6306803679759
Option 4 ID : 6306803679760
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Comprehension:

2 Ry 72 wrerier # g reg ©iE @ g & e sl eargdes ug ok R Mg mei et 3R

T3 @ &8 3k o1y U1l g 6| Fa=i = AT1er bt Sffe uget & gepreict dge ST fRan g1 ek
TEY T STa AE T SHa T i T, U= HI-d = 370 TH- 31T aTeft shfdHTeat oy, fasm Y 7
T T &Y §1 A 7 hE 3 a1t A T AR Iy & udes Sfig ol AT & IHchR & Aemm 9
o et ot T fona &1 e o AT 9 €Y oireT gH deiatel § S[E Uy &, fordent SuaiT &d
THIST & 3R 31T TH-Sfia e a9 & fg ded &1 o1 & R A g9 St 5 ot ahead, Sma A
HRad & SR gl 1 gl [T I NG &1 g & 1 foh g% [¥eh & & ugcL gid & | 81 S g, fagme
& THCHR hT JehRTcHh T&T oft § 3fiR oft &1 STet o= 7 gr1a S o Sfiae o=t fohan & a8t
3T H1FE o fI1R1 ot AT ot R fohaT 81 71Ha 3 92-918 YR 99T 1 [ gART Uapfd SR
ygfaRor &t 7€ S # Agayof IEEIER

SubQuestion No : 12
Q.12 HT9E 7 31U A 3 aTell shfdasal iR, R A aees @ T Y &1
Ans X 1.3@@Ee

X 2. Jcwetn
X 3. fauf
o 4. T

Question ID : 630680938852

Option 11D : 6306803679766
Option 21D : 6306803679765
Option 31D : 6306803679764
Option 41D : 6306803679763

Comprehension:

2 g Terier # g <res ©is R 7y & e P wrmyde ud ofk o mg e o SR Al

IR @ &9 S @1 T §Y &1 fas = Aa ahr Sfta Ugel o Hereed ga T AT g1 Ueh
T AT ST& A Rl 19 G5 i T, UReg HId 3 3107 T ST aTeft dhfsATsdl Oy, fasm & 7iee
Ee) T I &1 AT 3 € 3 dTet 1T & Aeh [3%) & Uhieh Sita ol T & THehR & Areq @
FRIF0T et T T fohaT 8| fami o AT & €1 ST g1 SaTdret 9 98 UMY 6, fordent SuaiT gd
TSI & 3R 3T TH-Sfia Sl T & h folg e &1 31T o R | g9 1t o ot aheat, S&a A
Had & TR Fgl A Fel fA7H 1 aTe 81 dgd & A1 o 8% [k & <t usql 8ld €1 &iep 3¢t avg, fom
& IHHR T GhRIHAG g fi g ok ___ off &1 7gl o 2 wra sifar a1 Sfia w=et fohan & agt
ST H1Fg o fammer et At off werd o &1 e A 9292 RER a1y &1 o gar uepfa ok
TYfeRoT Sl 7€ A H Agayol IEEIEE

SubQuestion No : 13

Q.13 A== & areaw & & o1 gd Saierell § I3 Ug &, Sur suaiga s &6 3R oo
S-Sl &l e 991 & fAw A &1

Ans X 1.3304
o 2. faama
X 3.
X 4. fommer

Question ID : 630680938853

Option 11D : 6306803679769
Option 21D : 6306803679768
Option 31D : 6306803679770
Option 41D : 6306803679767
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Comprehension:
2 Ry 72 wrerier # 9 e ©i 3 g & mernir sl eargdes ug ok R Mg mei et 3R

T3 @ &8 3k o1y UMl g & | Fa=i = AT1er bt Sffe gt o geplerct dga ST AT g1 ek
TEY AT STa AE T SH1a g i T, U= JI-d = 370 THA 37T aTeft hfdHTeat oy, fasm Y 7
T T &Y §1 AT 7 HE 3 a1t A T AR Iy & udes Sfia ol AT & IHehR & Aemm 9
o et ot T fona &1 e o wTene 9 €Y orreT g1 deiatel § SE Uy &, fordent SudiT &d
TS & 3R 31T TH-Sfia l e S & fog ded &1 31T & R A g9 St §© ot ahed, Sma A
HRad & SR Sgl 1 gl [T I NG &1 Shgd & 1 foh g% [¥eh & & ugcL gid & | 81 S g, fagm
& THCHR T ThRIHS e off & ok f &1 STgt famm 7 Ara Sfa o sfias W forar € @t
3T A4 o fI1eT ot AT ot TR fohaT 81 71Ha 7 2-918 YR 99T 1 [ gARY Upfd SR
TgfaRor &t 7€ e # Agayof IEEIER

SubQuestion No : 14
Q.14 wga g 7 6 g e & &Y ugeg gla &1 Siak I R, AT & THhR &1 GhRTHS vet ff & ik

: 630680938854
: 6306803679771
: 6306803679774

N
Ans X 1. e

25 2. T

o 3. TRRIHSR

&5 4. =TT
Question ID
Option 11D
Option 2 ID
Option 31D :
Option 41D :

6306803679773
6306803679772

Comprehension:

2 g T Terier § g <res ©ig R 7y & e Y errmydes ug ofk e Mg s ar swR &l

A @ 89 3eh @ Ut gU 1 fas 3 7a ol Sfte Ut & Aehredt slge ST e 81 U
TR AT STE HG Rl ST Tgd i AT, U= A1 3 310 T 37T aTeft dhfd-1edl Oy, fasm Yt 7ee
F__ U HI I AT A HE S aret W & A [y & e Sita opt fATH & IH@hR & J1es 9
o e ot v fona 81 e o wTens @ € orreT g6 deiatel § S[E Uy &, fordent SudiT &4
THIST & 3R 31T FH-Sfia l e a9 & fg ded &1 31T o R A g9 it 5o oft ahed, Swa A
HiEd & SR gl 1 el [ ol NG &1 Shed & 1 foh 8% [ah & & UgcL gid & | 31k I v, fagm
& TH<hR ohl JehRTcAch et ) § 3k oft g1 STef o= = Ara S o Sfiae o=t fohan & agt
G AT o fomTeT a1 AR ot v forar 81 ATE A 93-9 §fUR 991 81 e gAR Uepfa iR
TfeR0T i TE e § Hgeayof g 81

SubQuestion No : 15
Q.15 5= gart uspfar 3k gafaror &l 7€ &= & Agwygof A 21

Ans o 1. S

X 2.

X 3. @=f

X 4.6
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938855

6306803679776
6306803679777
6306803679775
6306803679778
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Comprehension:

= g T Trerier & @Te 5 U U T €1 39 eI Rt ek U¢ ok R fadhedt # & udieh Ust
garad SR |

Tt oft fremeff & Sftem & @ o1 gewr aga Sifdes gl 8, wifes ag 3o 3t Sita # gt 3R Terd
UG el GHETA chl YRE3TT &l ¢ | et ot s ok srganfa g+ aga <t 81 3R &7 97d
& IR H SIHHR] T@d 8, 1 g6 T & AT oh IR § @R @ ent +ff STTeh dheT a1feq | oid g9 faemeff
Shte & 310 39 3w 9T & aR & ST AXd &, dY §F 31U T T TUANT ahe 31U Sita & HoherdT
T &R Tohdl & | ST fch 9T &1 Hged ST otaT & fhR ag weft off oras o ot ereran w18l &1 a8 Srae
B I THT TR QT e Y G A et 1 Foneft oft aafeh a1 st wg S99 h wu A A gl @
Sfeeh a8 YA & U ! THY I6d GHSIAT & TR IHY T et SYTNT ehich ol A o471 g1 sHifere &
T AT 31U ST # HheldT U &hid & | 3R §H it T8 I A ST STUAT Shidl T8I TR QX & 4,
@ gd off gherar s e

SubQuestion No : 16
Q.16 fA=fafE@d uw &, ar Reeal 7 @, 39 RAeea 1 g w1 St Ry 70 21eg & ey 21eg &1 e

8l
SIRsch
Ans X 1.8fmr
X 2. 3nfea
o 3. @R
X 4. ufeg
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938718

6306803679256
6306803679255
6306803679258
6306803679257

Comprehension:

I g M3 TTerier & &g 5 Ut iy M &1 39 TTerieT ot eegden U SR AR fdenedt | & Ui U 1
T IR A |

fendit oft feemdf o sftaw & wHa o1 geu gga 3ifie gidr 8, Fifeh ag 3o &t it & wet 3fiR 7Terct b
&I I T i ST el g | et st Tafas iR srganfid g agd s &1 SR &7 97d
& IR H SIHHRT G ¢, df 81 7 h A6 o IR H GUL ANl ehl T SIFTEeh SheT AT | 519 gH faemeff
St # 3107 39 STHIA T4 & IR A ST oid &, df 69 310+ GHY &1 GgUaNT s 3707 Sfia= H Tohedl
Tt & Tehd & | STt fch THYT <hl Aged ST odT & fohe ag @t oft 1u=t ohr &t eretar =18l &1 ag ruem
B R Y TR URT A i G hITART et &1 et off 2afch ol S0 7§69 & &0 & g1 i1 &
gfeeh a8 9T & HEd &l GHY Ed U & 3R THY I I} SUTNT &k &) He adr 21 s &
QY AT 370 St & TtheldT UTW $hed 6 | 3R g1 it TH o1 Hecd STTHehs STOHT eh1H 9T UR QRT & o,
at gd oft therar TR et

SubQuestion No : 17
Q.17 3IIJ=% & TR THI & Aged Tl THA g9 THSIA T &1 RO giar g?
Ans X 1. 2afh &l Igd B e 8

X 2. egfes Sugih s &
o 3. AP AgH g9 &
X 4 R gfgaF AT e

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Question ID :
: 6306803679249
: 6306803679250
: 6306803679248
: 6306803679247

630680938716
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Comprehension:

= g T Trerier & 91e 5 U U T €1 39 eI Rt eaydeh U¢ ok R fadhedt # & udieh Ust
garad SR |

Tl oft fremeff & Sftemt & T o1 gewr g Sifdes gl 8, wlfes ag 3o 3t Sita # et 3R Teid
UG el GHETA el YRE3TT &l ¢ | et ot aafs ok srganfa g+ aga St 81 3FR &7 97d
& IR H SIHHR] T@d 8, 1 g6 T S AT oh IR J @R @ ent oY STTeh dheT a1feq | o1d g9 faemeff
Shte & 310 39 SrHIe 9T & aR & ST oXd &, A §F 31U T T TUANT ahe 31U Sita & HoherdT
T o Gehd & | ST afch T8 &l Agd T4 «ar & R ag st oft srot v ot ereran =181 @1 a8 Sroem
B I THT TR QX e Y G A1 et 81 et oft aafeh o s g S9m h wU A Agi gl @
gfeth I8 THT & A ol THT {d THSIAT & 3R THY T Jgl IUANT hech &l He™ I-dT & | sYiferg gf
Y TN 31U St H ToheTdT U & & | 3R &H Y T ol Fg<a STTHens STU-T i T TR X1 s o,
A gd off gmherar s e

SubQuestion No : 18
SIS & AR amff sfte= # awa & #g=r & ar d s saad =l 82
25 1. ORI Sl Ui oA ok forg

25 2. 9 T IUANT A & forg

/5 3. Gech! STHaRT T&@H o g

o 4. ST § TOheldT UTed o o forg

Q.18

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938715

6306803679243
6306803679244
6306803679246
6306803679245

Comprehension:

I &g T3 TTerier & @16 5 U Ay T &1 59 TTeIieT ot eagdeh Ue SR AR faened! H & Ui U
T IR A |

fereft off fremmeff & Sftem & w1 o1 e Sga Sifdies giaT g, Rifeh ag Sru 3t Sftaw | gl SR et et
UG ol GHFA el [T &l ¢ | el sl Gafas SR Srganfid g agd sl 61 SR 87 97d
% IR F SRR G €, df g6 T h 78 & IR H TIR ANl et +ff SIFTeeh sheeT a1feq | o1 g9 faemeff
Shte & 310 3T SiHIe 9T & IR & ST oXd &, A §F 31U T T TUANT &he 310 Sita & HoherdT
T o Gehd & | STt cafch T8 &l Agcd ST «idT & fohR ag st oft srot v ol eerar =181 &1 a8 Sroem
B R Y TR U1 A il G ShiTALT vt &1 et off eafh 1 571 7§91 & &0 & 781 gl @
gfeeh I8 THT & HEcd ol THY {d JHSIAT & 3R GHY T Jg! IUANT hech gl ™ S-1dT & | sYiferg gF
Y TN 31U St & HheldT U S & | 3R &H Y T o1 Ag<a STTHens STUT i T TR U1 s o,
@ gd off gherar s e

SubQuestion No : 19
Q.19 T 3BT I g Iugh 2ftefen-
5 1. 98 StherdT
25 2. 77 hY ugaH

Ans

o 3. T9T &1 A<
X 4. fenedf S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938714

6306803679242
6306803679241
6306803679240
6306803679239
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Q.20

Ans

Comprehension:

= g T Trerier & 9Te 5 U U T €1 39 TeIier Rt ek U¢ SR aR fadhedt # & udieh Ust
garad SR |

foeft oft fremeff & Sftem & @ a1 gewr g StfAes gl 8, wlfeh ag 3o 3t Sita # et 3R Tetd
UG el THEIA chl Y3 el ¢ | et ot aafs ok srganfa g+ aga St 81 3R &7 97d
& IR H SIHDR] T@d 8, 1 g6 T & AT oh IR § @R @ et +ff STTeh et a1feq | o1d gd faemeff
Shte & 310 39 3w 9T & aR & ST oXd &, A §F 31U T T TUANT &he 31U Sita & HoherdT
T o Gehd & | S afch T84 &l Agd T4 «aT & R ag st oft srot v ot erera =181 @1 a8 o=
B I THT TR QX e Y G R et 81 foneft oft aafch a1 st wg S99 h wu A Agi gl @
Sfeeh I8 YA & U ! THY I6d GHSIAT & TR U T et SUTNT ahich gl A o471 g1 sHifere &
Y AT 31U ST & TtheldT U &hed & | 3R §H it T8 &l A ST STUAT Shidl T8I TR QX1 & o,
@ gd off gmherar s e

SubQuestion No : 20

fafafEa us |, ar Rereat J 9, 39 faeeu @ aa7 &R st e 710 21ee & vafgerh e &
forereT =7l 8

Hg

X 1.9

X 2. faemer

o 3. S

X 4. gate
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938717

6306803679252
6306803679253
6306803679251
6306803679254
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